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1) PART A General Paper

Question No. 1/ Question ID 1703 Marks: 2.00




The following table shows the number of employees 1 an organization in five different Cities-Delhi. Mumbai, Bangaluru. Hydrabad and
Gurgaon with total number of employees being 4260 in the organization. along with the percentage (%) distribution of employees working
in four departments -HR., Finance, IT and Accounts. Based on the data in the table answer the questions that follows.

City-wise details of Employees in an Organization

Percentage (%) Distribution of Employees
iy [omberet
E HR Finance IT Accounts

Delhi 200 - 18% - 28%
Mumbar  ||[760 15% |- 30% |-
Bengaluru|- 18% |20% - 32%
Hydrabad |- - 25% 18% |33%

Gurgaon 700 20%  (22% - 20%

Note: 1. Some values are missing in the table (marked as'_ ") that you are expected to calculate if required.

2. Each employee works in only one department.

If number of employees in Bengaluru is 10% less than the number of employees in Hydrabad, then what is the difference between the
number of employees who work i1 Accounts department in these 2 eities?
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Question No. 2 / Question ID 1702 Marks: 2.00




The following table shows the number of employees in an organization in five different Cities-Delhi. Mumbai, Bangaluru, Hydrabad and
Gurgaon with total number of employees being 4260 in the organization. along with the percentage (%) distribution of employees working
in four departments -HR., Finance, IT and Accounts. Based on the data in the table answer the questions that follows.

City-wise details of Emplovees in an Organization

Percentage (%) Distribution of Employees
iy [bect Lo
E HR Finance IT Accounts

Delhi 900 - 18% - 28%
Mumbar  |[760 15% |- 30% |-

Bengaluru |- 18% |20% - 32%
Hydrabad |- - 25% 18% ||33%

Gurgaon 700 20% (|22% - 20%

Note: 1. Some values are missing in the table (marked as'_ ") that you are expected to calculate if required.

2. Each employee works in only one department.

If in Delhi. number of employees who work in Accounts department are 40% more than the number of employees who work in HR
department , then what is the number of employees who work in IT department in Delhi?

266

306

352
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Question No. 3 / Question ID 1705 Marks: 2.00

The following table shows the number of employees in an organization in five different Cities-Delhi. Mumbai, Bangaluru, Hydrabad and
Gurgaon with total number of employees being 4260 in the organization. along with the percentage (%) distribution of employees working
in four departments -HR, Finance. IT and Accounts. Based on the data in the table answer the questions that follows.

City-wise details of Employees in an Organization

Percentage (%) Distribution of Employees
iy bt o
E HR Finance IT Accounts

Delhi 900 - 18% - 28%
Mumbar  |[760 15% |- 30% |-
Bengaluru|- 18% ||20% - 32%
Hydrabad |- - 25% 18% |[33%
Gurgaon |[700 20% [22% - 20%

Note: 1. Some values are missing in the table (marked as'_ ") that you are expected to calculate if required.

2. Each employee works in only one department.

If number of employees who work in Accounts department in Mumbai is 38 more than the number of employees who work in IT
department in Gurgaon, then what is the number of employees who work in Finance department in Mumbai?

1. 114

2.120

3. 98

4,124
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Question No. 4 / Question ID 1701 Marks: 2.00

The following table shows the number of employees in an organization in five different Cities-Delhi. Mumbai, Bangaluru, Hydrabad and
Gurgaon with total number of employees being 4260 in the organization. along with the percentage (%) distribution of employees working
in four departments -HR, Finance. IT and Accounts. Based on the data in the table answer the questions that follows.

City-wise details of Employees in an Organization

Percentage (%) Distribution of Employees
o fmmt
E HR Finance IT [Accounts

Delhi Q00 - 18% - 28%
Mumbai  [760 15% |- 30% |-
Bengaluru|- 18% ||20% - 32%
Hydrabad |- - 25% 18% [|33%
Gurgaon (700 20% [22% - 20%

Note: 1. Some values are missing in the table (marked as'_ ") that you are expected to calculate if required.

2. Each employee works in only one department.

What is the total number of employees in Mumbai and Gurgaon who work in IT department?

482

452

570
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Question No. 5/ Question ID 1704

Marks: 2.00




The following table shows the number of employees 1 an organization in five different Cities-Delhi. Mumbai, Bangaluru. Hydrabad and
Gurgaon with total number of employees being 4260 in the organization. along with the percentage (%) distribution of employees working
in four departments -HR., Finance, IT and Accounts. Based on the data in the table answer the questions that follows.

City-wise details of Employees in an Organization

Percentage (%) Distribution of Employees
iy [omberet
E HR Finance IT Accounts

Delhi 200 - 18% - 28%
Mumbar  ||[760 15% |- 30% |-
Bengaluru|- 18% |20% - 32%
Hydrabad |- - 25% 18% |33%

Gurgaon 700 20%  (22% - 20%

Note: 1. Some values are missing in the table (marked as'_ ") that you are expected to calculate if required.

2. Each employee works in only one department.

If the mumber of employees in Bengaluru is 10% less than the number of employees in Hydrabad. then the total number of employees who
work in Finance and Accounts departments of the organization is more than 415 in exactly cities.
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Question No. 6 / Question ID 1708 Marks: 2.00




Match List I with List IT

Match List I with List IT }—Eﬁ 15 Y ﬂﬁ 11 &1 e m |
Online teaching tool Advantages for Teachers .ﬂj:r I
it Encouraging student engagement Hdl I
! and collaboration fostering critical 3.ﬁ=|?|-|€:|- &1 =
= ?Ea\n/é%emem System T thinking and problem solving ¢ IUHT) N (et & oo &)
s SRNICHI TaEHl
Creating and administering i HTETH T Y= I %@‘;ﬁ%ﬁ% :
Video conferencing assessments quickly and easily " gt (TAUATE) z
B i automating grading and feedback HHT‘E[F—[ Bl e EE DI
EEELEIPEREIER
Streamlining course B. [afeg eiahfE I ﬂ_ BT TR ST 3
R | T, m administration, managing student hledd wdliod dedl
' ~[meseat shd radcs g UG @1 8a a1, B
C. [@aidg 1. o : . :
—— — o RIS SR US B Y&t BT
elivering engaging an T
D Online Assessment v interactive class sessions a-ﬁr:ﬁrra':[ H@W . 2D 3R Wﬁ : DA
" |platform " |connecting with remote learners D. BE] IV 13T, g3 31t o Y
N

Choose the correct answer from the options given below: EiE] ﬁT{ Ry famedl § ¥ Tl 3R &I 944 qﬁnleriL{ |

1. A-IV. B-TII. C-1. D-II 1. A-TV, B-III. C-1. D-II
2. A-I. B-IV, C-II, D-III 2. A-I. B-IV, C-II, D-III
3. A-IIL, B-III. C-IV, D-I 3. A-II. B-III. C-IV, D-I
4, A-IIL B-1V, C-1. D-II 4, AL B-IV, C-1, D-II
O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4
Question No. 7 / Question ID 1743 Marks: 2.00

As per the recommendation of the National Education Policy (2020), the Indian Standards of skills will aligned with the International
Standard Classification of occupations of

. UNDP

. UNESCO
ILO
JATU
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Question No. 8 / Question ID 1738 Marks: 2.00




Given below are two statements:
Statement I: Cultural eutrophication is caused by inereased nutrient input into water body mainly due to human activities
Statement IT: Cultural eutrophication deaccelerate the 'aging' of a water body enormously over natural rates.

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I 1s correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct
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Question No. 9 / Question ID 1711 Marks: 2.00

Given below are two statements:
Statement I: A Cohort is a population whose members have some specific characteristics in common.

Statement II: In a prospective study . the researcher relies on people's memories and recollections of the past.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3, Statement I is true but Statement IT is false
4, Statement T is false but Statement II is true
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Question No. 10 / Question ID 1726 Marks: 2.00

FafaRad rsa g &1 oY & SRgied & oIaiyd i |

Arrange the following group of terms in order of increasing intension:

A Ti A 9
. Tiger
; B. Tumt
B. Mammal
C. Feline C. 198l
D. Animal D. U]
Choose the correct answer from the options given below: CiE] ﬁ:q i fomeai vy ?Hﬁ SR ERC-ARCHE] ﬁﬁ}ﬂ{ I
1.LA.C.B.D 1.A.C.B.D
2. DA C, B 2.D.A.C.B
3.D.B.C.A 3.D.B.C.A
4 AB.C.D 4. A.B.C.D
O 1
1
2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 11 / Question ID 1745 Marks: 2.00

Given below are two statements:
Statement I: Reputed scholars like Panini and Chanalkya had their education from Nalanda university
Statement IT: Thakshashila was a university known for its education in Indian arts and science especially medicine

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I 1s false but Statement II is true

19 21 PYA fAU U §: TP AUBHYT (Assertion A) B =0 H fi1fEd § 1 GO TP PRI (Reason R) P =7 -
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Question No. 12 / Question ID 1714 Marks: 2.00




Given below are two statements:
Statement I: The risk of rejecting the null hypothesis when it should be confirmed. is more at 0.05 p-level than at 0.01 p-level

Statement IT: The risk of committing a type-I error is lower at 0.05 p-level than at 0.01 p-level

In the light of the above statements. choose the correct answer from the options given below.

. Both Statement I and Statement II are true

. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true

T Fy Ry E:
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Question No. 13 / Question ID 1720 Marks: 2.00

Given below are two statements:
Statement I: The clectronic space of Internet has failed to displace the Institutional space in a society even an iota.

Statement IT: The Internet communication has broken down the hierarchies of race. ethnicity and gender

In the light of the above statements. choose the correct answer from the options given below.

. Both Statement I and Statement II are true

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true
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2 (Chosen Option)
2 (Chosen Option)

3
3
4
4

Question No. 14 / Question ID 1725 Marks: 2.00

A passenger train running at the speed of 75 kin/'hr leaves the railway station 9 hours after a goods train leaves and overtakes it in 6 hours.
The speed of the goods train is

35 km/hr
.32 km/hr
. 30 km/hr
. 28 km/hr

75%9“[1& @1 71 T I aTell FaR] M1 fadd ATTS & W ¥H P & 9 €e UYTd ad ¥ Bisdl o 3R 6 9 § 38 3T
Sl oldl & | FTaa! & 1 farami 82
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(Chosen Option)
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Question No. 15/ Question ID 1733 Marks: 2.00

Given below are two statements:
Statement I:A binary number that ends ina 1. e.g 110011, is always an odd decimal number.

Statement IT: HTML is a set of rules that must be obeyed when transferring files across the Internet

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true
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Question No. 16 / Question ID 1735 Marks: 2.00

Match List I with List II

(Methods of data recovery
or protection)

A [Data loss caused by hard disk crash| I |Ant-spyvware software

B Introduction of software that self-

" jreplicates and can cause data loss

(Security or data loss issues)

II. |Anti-virus software

C reading of illegally accessed

& - ITI. [Back-up files

Software that records all kev
D. |presses on vour computer without | IV. [Encryption
bvou knowing

Choose the correct answer from the options given below:

1. A-IIL B-IV, C-II. D-I

2. A-L B-IL C-IV, D-III

3. A-IIL B-II, C-IV. D-I

4. A-IL B-III, C-IV, D-I

il 1 1Y G 11 BT HE BHifoig
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Question No. 17 / Question ID 1724 Marks: 2.00




It A, B and C can complete a piece of work in 3.5 and 6 days respectively. they together will complete the work in

—

3
. 1= days
7 y

| ]

.22 days
>
1

3. 1—days
5 v

4, 2-2 days
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(Chosen Option)
(Chosen Option)
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Question No. 18 / Question ID 1710

Given below are two statements:
Statement I:Metacognition is the understanding about one's own use of language.

Statement IT: Mnemonics is the knowledge about our own thinking processes

In the light of the above statements. choose the most appropriate answer from the options given below.

oth Statement I and Statement II are correct

oth Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II 1s correct
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1

B
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O 3
3
O 4
4

Marks: 2.00

Question No. 19 / Question ID 1712

Marks: 2.00




When participants drop out of a study. leading to change in the nature of the sample. it would cause which of the following threats to
internal validity?

1. Selection threat
2. Attrition threat
3. History threat
4. Testing threat

oid wfaurh el sremg= 3 &g 7 €1 arev 81 oid &, forad widesl & Ty o ulkad 81 ofrar 8. 91 399 siide® duar of Fafafad
T Y B 91 @R 81 Tl 87
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. &0 Hee ot
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 TRI0T et WeRT
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(Chosen Option)

1
1
2
2
3
3
4
4 (Chosen Option)

Question No. 20 / Question ID 1729 Marks: 2.00

Identify the formal fallacy committed in the following argument: "Some good actors are not powerful athletes . All professional wrestlers
are powerful athletes. Therefore all professional wrestlers are good actors”.

1. Exclusive premises

2. Existential fallacy

3. Affirmative conclusion from negative premises
4. Affirming the consequent

Fafeiad giaa & [5d T SMER® ddhaly & gdH Siig: "$a 3 T fdasie gudie 7ol ¢ | 9 awiie ggaaH
yifaaeel vy & | safo gt aewfie geaar o= afiFargl”

1. TadP YR I1a
2. AHETORP T 39
3. YIS YR 190 § 9ORIAS 5oy
4. BEaE AYE gy

o O O O

(Chosen Option)

1
1
2
2
3
3
4
4 (Chosen Option)

Question No. 21 / Question ID 1715 Marks: 2.00




Given below are two statements:
Statement I: A dichotomous variable is the one which has more than two categories.

Statement IT: A nominal variable can have more than two categories.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

- < Py feg U &

Y1 : fguroll R T a1 ¥ sifYe 4wl gidl &1

YA 11 : AI10d 2R 4 &1 311U SRl g1 9l &1
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o 1
1

O 2
2

B

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 22 / Question ID 1730 Marks: 2.00

Which of the following arguments commits the fallacy of contradicted middle such that the middle term. instead of being pervaded by the
presence of the major term. is pervaded by the absence of the major term?

1. All things are non eternal because they are knowable.
2. Sound is a quality because it is visible.

3. Fire is cold because it is a substance.

4. Sound is eternal because it is produced.

frafeiad & ¥ forg gfea © aamrd! a1en ab Y 38 YR © {6 09 Ug O Ug &1 Iuiufd g1 oiTd 614 31 ao1d 43 Ug 31
ST GRT 9T Biefl 82
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Question No. 23 / Question ID 1716 Marks: 2.00




According to Abhimava Gupta, the Rasa theory of communication provided an opportunity for audience's

1. Literary taste

2. Materialistic welfare
3. Socialisation

4. Moral cultivation

ST T & SR I & 39 Rrgid 3 gidrsi & % fo1U 3aeR wer fean

1. Oiefd® 3mare
2. Yifq® seamr
3. QTSI

4. 90 IHR

o 1
1

O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 24 / Question ID 1731 Marks: 2.00

When you sign up something like a free e-mail account, you may be presented with a CAPTCHA. the most conumon form of CAPTCHA
is an image of several distorted letters. CAPTCHA stands for:

. "Coverage Analysis and Planning Tool for Computers and Humans Apart.”

. "Completely Automated Public Turing test to tell Computers and Humans Apart"

3. "Completely Applied Parallel Technologies for Communication and Hardware Apart”.
4. "Comparable Additional Protected Turing test to cell Computers and Humans Apart".

aa&rrtrﬁr S @Al o et gfae o1 WieRr $3d §. 9 31us 998 U S (FUdiEivan) g foar o 9ol ¢ 59
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o1
1
O 2 (Chosen Option)
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O 4
4
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Question No. 25 / Question ID 1713 Marks: 2.00




According to UGC Regulations 2018 on plagiarism. common knowledge or coineidental terms. up to how many consecutive words shall
be excluded while checking similarity for detection of plagiarism

m%ﬁﬁlaﬁﬁﬁ W §H SR S Wegl & aR 8 goir! [0 2018 & SF9R. HIigide IR1 61 9d1 @ & [ S0 &1
i< PR FH - HRT Yea| o1 €6 (Taaacys) fdar sy
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(Chosen Option)
(Chosen Option)

O O O O
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Question No. 26 / Question ID 1737 Marks: 2.00

What is the correct increasing order of the contribution to the global warming by the following gases?

A, Methane (CH,y)
B. Carbon Dioxide (CO,)
C. Nitrous oxide (N,0)

Choose the correct answer from the options given below:

LA E
2.C,A.B
3.B,A,C
4B, 0K

afre ar ® FHafefEd 197 & give &1 et SRigl 5F BH-ar 82

A HIY9 (CHy)
B. D14 SILHAIES (CO,)
C. -TSCH HFHISS (N,)
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( hosen Option)
(Chosen Option)
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1
1
2
2
3
3
4
4

Question No. 27 / Question ID 1706 Marks: 2.00




Which of the following are the interrelated phases created by John Keller for stimulating and sustaining learner's motivation in the
teaching and learning process?

A. Attention
B. Authority
C. Relevance
D. Confidence
E. Satisfaction

Choose the most appropriate answer from the options given below:

1.A. C.D and E only

2.B.D and E only

3. A CandD only
4. B and C only

ﬁyﬁﬁiﬂﬁg{ﬁ:{-@[ﬁw SR 31T wisean T SHferTHedl & SHURU Sl agH SR ST G & [RTY W14 SHaR gRT Yiord TR
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A HF

B. WIIY&R
C. Ui
D. 3THGY™
E 9dy

49 fqu ¢ faseul ¥ ¥ Yad SUged STk &I 999 SISl

1. $ATA. C.D IR E
2. FadB,D IR E
3. PATA. C3IRD
4. HAAB AR C

1 (Chosen Option)
1 (Chosen Option)
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Question No. 28 / Question ID 1721 Marks: 2.00

Determine the next term in the following number series TN H@AT H HNTHT U J1d D

31535063 7 3,15, 35,637
1. 89 1. 89
2.91 2.91
3.99 3. 99
4. 106 4. 106

O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 29 / Question ID 1727 Marks: 2.00




Given below are two statements:
Statement I: A valid deductive argument that also has all true premises is called a "sound" argument.

Statement IT: A strong inductive argument that has all true premises is called a "cogent" argument.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct

i < P fRg o @

HYA 1 : 98 d9 s gfdd. forgd et ouR /e 9 §1d §. 619 giad deand g
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o1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 30 / Question ID 1732

Marks: 2.00




You and your friends decided to go to Goa after you finish your finals, However. your demanding parents set a couple of conditions to jomn
your friends (See MS-EXCEL spreadsheet below)

A B C D
Minimal results  |Actual Allowed

1|Category of condition - eifed it (Yes/No)
5 Hours spent on homework H 3
weekly
3| Midterm score 70 68
4||/Final exam score 73 77

Tmagine your parents would care about exams (only Midterm score and Final exam score conditions are relevant). Choose one
option/formula that you can use for cell D2 to answer the question: will you be able to join your friends with the results given?

1. =IF (C3>=B3. IF (C4>B4."Yes". "No"), "No")
2. =IF (AND (C3>=B3, C4>=B4). "Yes". "No")
3. =IF (C3:C4>=B3: B4, "Yes", "No")

4. =[F(OR (C3 >=B3, C4>=B4). "Yes". "No")

e T T B9 & 918 31T 3R 394 31 3 7Mar o= &1 fufy foean quifty 3maes @aR Arar-fodr 3 s 3= i &
1Y o B AT 31 & o oo e @ (g e ueia St 39)

A B g D
] A9 | ddide | SFAT Ued
1 e
AR ufome GIRED
2 amuﬁ E‘J%EI lfeRRR 2 3
3 [HeTaty 3@ 70 68
4 |3 Tiiem dd 75 77

g1 DIfoTE fd 31Tads HIAT-Od &1 dad TRien &t fodl 8 (Graa Teamafy oid g Sifad usien & e o Id Ui ©) | U@ U
(el g 10 o/ 370 9 W% T ST & & (10 UobIg D2 H Wi &6 §eb | &1 319 fGU ¢ Uil | 319+ {83 & | o
TP

1.=1F (C3 >=B3, IF (C4 > B4, BT, T&l), &l
2. =IF (AND (C3 >=B3, C4 >=B4), BI. 7gl)
3.=IF (C3 : C4 >=B3 : B4, BT, 7al)
4.=1F (OR (C3 >=B3, C4>= B4), 8T, 7T&l)
O 1

1
O 2

2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 31 / Question ID 1723 Marks: 2.00

If x = 0.25 and y = 0.16, the value of the expression — =+ / X A f y - .l',:y ig
X

0.6
0.8
3.045
4.0.58
afe x =025 3Ry =0.16 8 dl TAD —+\R v — BT T &1 g

b

0.6
0.8
0.45
0.58

il e




(Chosen Option)
(Chosen Option)
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Question No. 32 / Question ID 1719 Marks: 2.00

Grven below are two statements:

Statement I: There is an argument that the emergence of cable and television audiences has brought in more personalised and interactive
media culture.

Statement IT: Within an integrated communication system, messages do not acquire communicability and socialisation.

In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT is true

TR pyfum e

%ﬂﬁl:wgﬁd%ﬁmqm 3R eelifaer & 3xi® & anfauia I iftie duida® iR or: [hareT® Hifsa P id @1 Lod 55
I

HY I : THId TN Jomell & +far Saxif & Sioiigar SR Sorsiieo 78 8l § |
SR HUH & AP H, A U MU [dhedi § T el SR &l 994 I

HYTIR NG T §

HYT 1 AR 1 AT 3T 8

. PYT 1 9d &, Al HUT 11 T &
FHYF 1 A . ABT U 1 T §

O 1
1

W

O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 33 / Question ID 1739 Marks: 2.00

U9 alee 1 TR |

A photovoltaic array is

1. TS UHA IR TA B

1. a single solar cell
2. a single solar module 2. Ud Upd R
3. a single solar panel 3. US Upd IR U9d
4. combination of solar panels 4, 1—?[? a:lﬁﬁ g %
O 1
1
O 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)

Question No. 34 / Question ID 1744 Marks: 2.00




Find out the chronological order of the following open universities in India.

A Karnatak state open university

B. Netaji Subhash open university

C. UP Rajarshi Tandon open university
D. Madhya Pradesh Bhoj open university
E. Nalanda open university

Choose the correct answer from the options given below:
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o1
1

O 2 (Chosen Option)
2 (Chosen Option)

Question No. 35/ Question ID 1722 Marks: 2.00

In a certain coding scheme ., "WOMEN' is coded as '65'. How will the 'CHILDREN' be coded in this scheme?

1.178
2,143
116
4,78

fopeit pecia Aol 8, 'WOMEN' ®1'65' & ¥4 § Hexi=d (41 781 ¢ | 'CHILDREN &1 59 AeHl & &4 $exiad (el Sum?

e s

. 178
. 143
. 116
78
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(Chosen Option)
(Chosen Option)

Question No. 36 / Question ID 1707 Marks: 2.00




The process of comparing a student’s performance against his/her previous performance is knovn as:

1. Diagnostic evaluation
2. Summative Assessment
. Ipsative Assessment

. Informal Assessment

fepr et BT & HaRiA B 39S Jd UaxH 9 qal B3 &1 Uichdl i 51 S8 Sl 67

e Lo
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o1
1

O 2
2

L

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 37 / Question ID 1728 Marks: 2.00

Which informal fallacy is committed in the following statement- "American Indians are disappearing. That man is an American Indian.
Therefore that man is disappearing”?

1. Red Herring

2. Hasty Generalisation
3. Begging the question
4. Fallacy of division

m$?ﬁﬁ:{m SFTPIRG qhaly & - "3RS YR [dqw 61 3% & | 98 adiad SUR®! YR § | 9 Ay a8 ofdd

1. 38 gha
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1

(Chosen Option)

O

O
(Chosen Option)
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O
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Question No. 38 / Question ID 1709 Marks: 2.00




The teaching that provides all students with challenging mstructions and uses supports when needed but removes those supports as
students become able to handle more on their own is called as :

1. Recessive teaching

2. Active teaching

3. Adaptive teaching

4. Problem-oriented teaching

U 1o &1 1 gl STl & forad T2t S & Al srew fau oi1d § SR e al yR Jerdl HaTH &I ol g, 0Xg o
BT W4 57 gt &l Gure © 9em 81 9Id &, 99 9eTadl gl o 9l g

1. gt e

2. Tiepy fRreo

3. SIS U8
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1

O
O
O

(Chosen Option)
O

1
2
2
3 (Chosen Option)
3
4
4

Question No. 39 / Question ID 1741 Marks: 2.00

The union government's mendate for Humayun Kabir committe was to explore the possibility of

. Privatisation of public universities

. Setting up of new university

. Establishing correspondence courses
. Funding private universities

U] HaR "Hfd &1 AU fbge! GuTa aare o o o

B

1. gravia fayfaeraal o1 e

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 40 / Question ID 1740 Marks: 2.00




United Nations Framework Convention on Climate Change (UNFCCC) was the outcome of

. Paris Agreement

. Montreal Protocol

. Convention on Biodiversity
. Earth Summit

Saar] 9Rad dedl Sge AP e S Hafaiad O ¥ fed o1 aRomd 1)
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1. O gl
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(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)

Question No. 41 / Question ID 1717

When people metacommunicate, they are sending messages about ST T PTG _—
1. Senders 1.U9%
2. receivers 2. Areen
3. Channels 3. H®H
4. Messages 4, &g
O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4

Marks: 2.00
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Question No. 42 / Question ID 1736

Marks: 2.00




Given below are two statements:
Statement I: Due to climate change, Arctic sea ice is significantly thinner now than about a century ago

Statement IT: Due to climate change. tropical regions have warmed much faster than rest of the world.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
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Question No. 43 / Question ID 1734

Marks: 2.00




Identify the correct order of the terms A-E to complete the paragraph about MAC addresses and IP addresses given below.

A MAC address is a media access address. A network device has a MAC address that can help the device in the
network. An IP address is an Internet address. An IP address can be static or

A. Protocol
B. Control
C. Dynamic
D. Identify
E. unique

Choose the correct answer from the options given below:

1.B.C.D.ALE
22.C.E.D.AB
33JA.B.ED.C
4.B.EEDA.C
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Question No. 44 / Question ID 1718 Marks: 2.00

Media interactivity is experienced at different levels in different relations.

1. Political

2. Economic

3. Techno-social
4. Techno-ethical

fafir Tael 7 faftre w=i o= wfifsar sia:-feraraedr sAya et 21

1. AoHIfd®

2. 3

3. dPIP] - FHTIS
4. dPIP! - Afd®

(Chosen Option)

1
2
2
3
3 (Chosen Option)




Question No. 45 / Question ID 1742 Marks: 2.00

The Education Despatch of 1854 suggested that the medium of instruction in Indian Universities should be

1. Persian
2. Sanskrit
3. Hindi
4. English

1854 & UolebxI FEuta & garma fen ma o1 oyt fayfasmerdl & srae &1 A1y gg w8 9iied|

1.1:1_9‘R?ﬁ
2. I
3. fe=l
4. Uit

O O O O

(Chosen Option)

1
1
2
2
3
3
4
4 (Chosen Option)

Question No. 46 / Question ID 1746 Marks: 2.00




Read the passage and answer the question that follow:

The transport department is planning to start a road safety campaign that will involve local resident welfare associations, market
staleeholders. school children and society representatives. As part of the campaign. the distriet magistrates will form plans to address the
increasing number of accidents in consensus with the locals.

The decision was taken after it was found during a government study that road sections passing through pedestrian heavy areas having
schools. metro stations and commereial sites were more prone to aceidents.

A senior official said that funds worth Crores. which were meant for ensuring road safety were not being being utilised. "The focus of the
campaign will be to identify and rectify black spots. revisit speed limits. form road safety clubs. install Al cameras at strategic locations.
encourage helmet use. check speed in high risk locations and regulate oveloaded commercial vehicles. the official explained .

The number of deaths due to road accidents in Delhi totalled 1.239 in 2021 and an increase from 1.196 fatalities in the previous year.
according to Delhi Crash Report 2021, which was prepared by the city's traffic police. Pedestrian deaths comprised more than 40% of the
total fatalities.

The Government study found that areas that were more accident prone were

. Main roads

. Peripheral roads

. Highways

. Pedestrian-heavy areas
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Read the passage and answer the question that follow:

The transport department is planning to start a road safety campaign that will involve local resident welfare associations, market
staleeholders. school children and society representatives. As part of the campaign. the distriet magistrates will form plans to address the
increasing number of accidents in consensus with the locals.

The decision was taken after it was found during a government study that road sections passing through pedestrian heavy areas having
schools. metro stations and commereial sites were more prone to aceidents.

A senior official said that funds worth Crores. which were meant for ensuring road safety were not being being utilised. "The focus of the
campaign will be to identify and rectify black spots. revisit speed limits. form road safety clubs. install Al cameras at strategic locations.
encourage helmet use. check speed in high risk locations and regulate oveloaded commercial vehicles. the official explained .

The number of deaths due to road accidents in Delhi totalled 1.239 in 2021 and an increase from 1.196 fatalities in the previous year.
according to Delhi Crash Report 2021, which was prepared by the city's traffic police. Pedestrian deaths comprised more than 40% of the
total fatalities.

"Revisit speed limits" means

. Speed limits will be revised.

. Speed limit will be re-assessed.
. Speed limits will be reduced.

4. Speed limits will be inereased.
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1
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Read the passage and answer the question that follow:

The transport department is planning to start a road safety campaign that will involve local resident welfare associations, market
staleeholders. school children and society representatives. As part of the campaign. the distriet magistrates will form plans to address the
increasing number of accidents in consensus with the locals.

The decision was taken after it was found during a government study that road sections passing through pedestrian heavy areas having
schools. metro stations and commereial sites were more prone to aceidents.

A senior official said that funds worth Crores. which were meant for ensuring road safety were not being being utilised. "The focus of the
campaign will be to identify and rectify black spots. revisit speed limits. form road safety clubs. install Al cameras at strategic locations.
encourage helmet use. check speed in high risk locations and regulate oveloaded commercial vehicles. the official explained .

The number of deaths due to road accidents in Delhi totalled 1.239 in 2021 and an increase from 1.196 fatalities in the previous year.
according to Delhi Crash Report 2021, which was prepared by the city's traffic police. Pedestrian deaths comprised more than 40% of the
total fatalities.

Fill in the blank with the appropriate option:

The number of deaths due to road accidents from 2020 to 2021.

. Declined

. Remained the same
. Increased

4. Decreased

FafaRed Teiw ©f aFYde ufeu SR 3% A fGu 7 uyf & IR i)

GRag AU U 5o JRE S YT B &t Aie1 &1 61 & forgd RIFR Hard Sear 99, 9eR fauRe, Wl o 3R
TS & i1 2niEd 8| 59 SMfaH & U6 YT & U § Saiter] ghe1s &1 agdl W61 @1 A & oy G Tl ot
FATmid 4 GeET §1 |

g5 [Mulg U WRHRT 31900 & SRF U8 UL STH & a8 o1 711 o1 i ueaiial 1 3ifee e ard &3 ol [ wpal. Ol el
HR arfioes Rl 9 ToR- aid 95 @s| UR gueIs &I 3Hide GuTa- I |

U aRy HUSRT = Sdmd1 [ S5 GRal ATEd 37 & oy sdfed dis! =ud &1 Fidl &1 SuaiT 98! fivar 31 @1 g | iR
= gam & rgdetsl ® eifdies U1 ard RIFT (i ic) 1 Igd 1 R 81 geAN A & IURI Sl T HH13f Bt
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Read the passage and answer the question that follow:

The transport department is planning to start a road safety campaign that will involve local resident welfare associations, market
staleeholders. school children and society representatives. As part of the campaign. the distriet magistrates will form plans to address the
increasing number of accidents in consensus with the locals.

The decision was taken after it was found during a government study that road sections passing through pedestrian heavy areas having
schools. metro stations and commereial sites were more prone to aceidents.

A senior official said that funds worth Crores. which were meant for ensuring road safety were not being being utilised. "The focus of the
campaign will be to identify and rectify black spots. revisit speed limits. form road safety clubs. install Al cameras at strategic locations.
encourage helmet use. check speed in high risk locations and regulate oveloaded commercial vehicles. the official explained .

The number of deaths due to road accidents in Delhi totalled 1.239 in 2021 and an increase from 1.196 fatalities in the previous year.
according to Delhi Crash Report 2021, which was prepared by the city's traffic police. Pedestrian deaths comprised more than 40% of the
total fatalities.

Given below are two statements:
Statement I:The focus of the passage is on making Delhi roads safer.
Statement II: Funds worth crores meant for ensuring road satety have been properly utilized.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement I are incorrect
3. Statement I is correct but Statement II is incorrect

e

. Statement I i3 incorrect but Statement II is correct

FAfIEd TR &1 Y ® diey iR 39d 19 fGu T 94l & IR g

GRaeH [A4FT U IS5 GR&T SHIHGH YR B 1 AIei1 &1 281 ¢ orgH R FaRit deun 99, ek feduRe®, el = 3R
FTS & i =niee 81| 59 SifaH & U Y & U § SaieR] ghe-1sl &1 agd! S8 @1 A & oy IHE arl st
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Question No. 50 / Question ID 1749 Marks: 2.00

Read the passage and answer the question that follow:

The transport department is planning to start a road safety campaign that will involve local resident welfare associations, market
stakeholders. school children and society representatives. As part of the campaign. the district magistrates will form plans to address the
increasing number of accidents in consensus with the locals.

The decision was taken after it was found during a government study that road sections passing through pedestrian heavy areas having
schools. metro stations and commercial sites were more prone to accidents.

A senior official said that funds worth Crores, which were meant for ensuring road safety were not being being utilised. "The focus of the
campaign will be to identify and rectify black spots. revisit speed limits. form road safety clubs, install Al cameras at strategic locations,
encourage helmet use. check speed in high risk locations and regulate oveloaded commercial vehicles. the official explained .

The number of deaths due to road accidents in Delhi totalled 1.239 in 2021 and an inerease from 1.196 fatalities in the previous year,
according to Delhi Crash Report 2021, which was prepared by the city's traffic police. Pedestrian deaths comprised more than 40% of the
total fatalities.

" Black spots" are areas

1. that have been blackened.
2. that have no light.

3. where a lot of accidents happen.
4. that are busy.

FAfIEd TR &1 Y ® diey iR 39d 19 fGu T 94l & IR g

GRaeH [A4FT U IS5 GR&T SHIHGH YR B 1 AIei1 &1 281 ¢ orgH R FaRit deun 99, ek feduRe®, el = 3R
FTS & i =niee 81| 59 SifaH & U Y & U § SaieR] ghe-1sl &1 agd! S8 @1 A & oy IHE arl st
Fagd I gioH1d S|

7 [FUig Ue SRSRT 3em & SR g8 UL o & aTe, forn 131 o1 i geaital &1 sfftie wean ard &7 o fa Wl Ae e
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U aRy PSR! A g 6 TS gRan GAfEd o1 & U srdfed st =ua Bt gl o1 3udi =81 fear 1 @1 51 SsRt
= g fo geers BT it UG aTe WF! (1P Wie) B Uga D1 3R a6l GaeA Ad- & U™ P21, Tl JET3] B
Tl BT, TSP YR FAd] BT T3 P, Ho@qul HI IR USTg HHR] WY B, gade & I9ar &) Hiciied de-l. iU
SifEH are W &R i S8 S 3R, &7 3 i @ aifvifsas are-i @1 fafafia &3 &R aF S farm s
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The total cost of retrieving records in sorted order using an unclustered B+ tree 18
(P- Average number of records per data page
N- Data pages

F- Ratio of the size of a data entry to the size of a data record)

1. (F*N) +P
2.(FtP)*N
3. F*N*P
4. F+P/N
The total cost of retrieving records in sorted order using an unclustered B+ tree is

(P- Average number of records per data page
N- Data pages

F- Ratio of the size of a data entry to the size of a data record)

1. (F*N) +P
2. (F+P)*N
3. F*N*P

4. F+P/N

1

©)
@)
©)
©)

(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)

Question No. 2 / Question ID 87057

Marks: 2.00




Suppose a circular queue of capacity (n-1) elements 1s implemented with an array of n elements. Assume that the insertion and deletion
operations are carried out using REAR and FRONT as array index variable respectively. Initially, REAR=FRONT=0. The conditions to
detect quene empty and queue full are

1. EMPTY: REAR ==FRONT
FULL : (REAR+1) mod n ==FRONT
2. EMPTY: (FRONT +1) mod n =— REAR
FULL: (REAR +1) mod n =FRONT
3.EMPTY (REAR +1) mod n == FRONT
FULL: REAR==FRONT
4. EMPTY: REAR==FRONT

FULL: (FRONT+1) mod n == REAR
Suppose a circular queue of capacity (n-1) elements is implemented with an array of n elements. Assume that the insertion and deletion
operations are carried out using REAR and FRONT as array index variable respectively. Initially, REAR=FRONT=0. The conditions to
detect quene empty and queue full are

1. EMPTY: REAR ==FRONT
FULL : (REAR+1) mod n ==FRONT
2. EMPTY: (FRONT +1) mod n==REAR
FULL: (REAR +1) mod n =FRONT
3. EMPTY (REAR +1) mod n == FRONT
FULL: REAR==FRONT
4. EMPTY: REAR==FRONT

FULL: (FRONT+1) mod n == REAR

1 (Chosen Option)
1 (Chosen Option)
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Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Dendral is an expert system
Reason R: The rationality of an agent is not related to its reaction to the environment.

In the light of the above statements. choose the correet answer from the options given below.

. Both A and R are true and R is the correct explanation of A
. Both A and R are true but R is NOT the correct explanation of A
. Ais true but R is false

. A s false but R 1s true
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

R R

Assertion A: Dendral is an expert system
Reason R: The rationality of an agent is not related to its reaction to the environment.

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false
4. Ais false but R is true
o1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 4 / Question ID 87070

The compiler for high level language that runs on one machine and produces code for other machine is called-

1. Cross compiler
2. Multipass compiler
3. Optimizing Compiler
4. One pass Compiler
The compiler for high level language that runs on one machine and produces code for other machine is called-

. Cross compiler

. Multipass compiler

. Optimizing Compiler
. One pass Compiler

O 1
1

R

O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Marks: 2.00

Question No. 5/ Question ID 87064

Marks: 2.00




Match List I with List IT

LISTI LIST IT
A |The running time of straight forward recursive method to compute nth Fibonacei number Fn I o (n:)
B. |The running time to compute Fn using memoization II. |O{lg n)
C. |The running time to compute Fibonacel number Fn using only integer addition and multiplication] ITII |O (n)
D. [The running time to determine an optimal bitonic tour IV. @[\'lﬁ")
Choose the correct answer from the options given below:
1. A-l B-III C-IV  D-II
2. A-IV B-III C-II  D-I
3. A1 B-II C-IV.  D-II
4. A-IV B-II C-IIT  D-I
Match List I with List IT
LISTI LISTII
A |The running time of straight forward recursive method to compute nth Fibonacel number Fn L o (n:)
B. |The running time to compute Fn using memoization IT. |0 ({lg n)
C. |The running ume to compute Fibonacci number Fn using only integer addition and multiplication] IIL (O {n)
D. |The running time to determine an optimal bitonic tour IV, @[\‘b"]

Choose the correct answer from the options given below:

AT B-III C-IV  D-I
CA-IV B-III CII D
AL B-II C-IV.  D-II
ATV B-II C-IIT D-I

o1
1

=W =

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 6 / Question ID 87085

Which of the following is not a solution representation in a genetic algorithn?

1. Binary valued
2. Real valued
3. Permutation
4. Combinations

Which of the following is not a solution representation in a genetic algorithm?

. Binary valued
. Real valued
. Permutation
. Combinations

O 1
1

R

S Y]

O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Marks: 2.00

Question No. 7 / Question ID 87062

Marks: 2.00




Consider the following statements about heap sort algorithm:

A. The MAX-HEAPIFY procedure which runs in O lg (n) time, is the key to maintaining the max heap property

B. The BUILD-MAX-HEAP procedure, which runs in O lg (1) time, produces max-heap from an unordered input array
C. The MAX-HEAP-INSERT. which runs in O (lg ») time , implements the insertion operation

D. The HEAP-INCREASE-KEY procedure runs in O (n lg ) time ., to set the key of new node of its correct value

Choose the correct answer from the options given below:

1. A. B only
2. A, Conly
3.B.D only
4.A.B.C.D
Consider the following statements about heap sort algorithm:

A. The MAX-HEAPIFY procedure which runs in O lg (#) time. is the key to maintaining the max heap property

B. The BUILD-MAX-HEAP procedure, which runs in O lg (1) time, produces max-heap from an unordered input array
C. The MAX-HEAP-INSERT. which runs in O (lg #) time , implements the insertion operation

D. The HEAP-INCREASE-KEY procedure runs in O (n lg #) time , to set the key of new node of its correct value

Choose the correct answer from the options given below:

only
only
only

LA,
2: A,
B.
A B.C.D

wonw

3.
A.

-

1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 8 / Question ID 87048 Marks: 2.00

is intended to show that a system both conforms to its specifications and meets the expectations of the system customer.

. Software specification
. Software design
. Software evaluation
. software validation
1s intended to show that a system both conforms to its specifications and meets the expectations of the system customer.

S O

. Software specification
. Software design
. Software evaluation
. software validation
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4
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Given below are two statements: one 1s labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A: A process involves a library function to create a thread.

Reason R: The threads make system calls to convey their resource and I/O requirement to the Kernel.

In the light of the above statements. choose the correct answer from the options given below.

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is NOT the correct explanation of A

. A s true but R is false

. A s false but R is true

Grven below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

R

Assertion A: A process involves a library function to create a thread.

Reason R: The threads make system calls to convey their resource and I/O requirement to the Kernel.

In the light of the above statements. choose the correct answer from the options given below.

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R 1s NOT the correct explanation of A
. Ais true but R is false

. Ais false but R is true

1 (Chosen Option)
(Chosen Option)

B R
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1
2
2
3
3
4
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Question No. 10 / Question ID 87088

Which of the following is not a mutation operator in a genetic algorithm?

A. Random resetting
B. Scramble

C. Inversion

D. Difference

Choose the correct answer from the options given below:

1. A and B only
2.B and D only
3. Cand D only
4.D only

Which of the following is not a mutation operator in a genetic algorithm?

A. Random resetting
B. Scramble

C. Inversion

D. Difference

Choose the correct answer from the options given below:

1. A and B only
2.B and D only
3. Cand D only
4.D only
O 1
1
O 2
2

O 3
3

Marks: 2.00




O 4 (Chosen Option)
4 (Chosen Option)

Question No. 11/ Question ID 87079 Marks: 2.00
Match List I with List IT
LISTI LISTII
A [Physical layer I. |Transforming the raw bits in the form of frame for transmission
B. |Data Link Laver] IL |Control and monitoring of subnet
C. [Network layer |1 |Transmission of raw bits over communication channel
D. |Transport layer | IV. [Datagrams transmission data through connection oriented or connectionless using datagram|
Choose the correct answer from the options given below:
1. A-TII B-II C-I D-IV
2. AT B-IIL C-I  D-IV
3. A-II B-I C-II  D-IV
4. A-TI B-IV C-I D-II
Match List I with List I
LISTI LISTII
A [Physical layer I. |Transforming the raw bits in the form of frame for transmission
B. |Data Link Laver] IL |Control and monttoring of subnet
C. [Network layer |1 |Transmission of raw bits over communication channel
D. |Transport layer | IV. [Datagrams transmission data through connection oriented or connectionless using datagram|
Choose the correct answer from the options given below:
1. A-TII B-II C-I D-IV
2. AT B-IIL C-I  D-IV
3. A-II B-I C-II  D-IV
4. A-TI B-IV C-I D-II
O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4
Question No. 12 / Question ID 87022 Marks: 2.00
The clipping process in computer graphics is used for The clipping process in computer graphics is used for
1. Adding graphics 1. Adding graphics
2. Copying 2. Copying
3. Zooming 3. Zooming
4. Removing objects and lines 4. Removing objects and lines
O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4
Question No. 13 / Question ID 87068 Marks: 2.00




The maximum yield length of the following CNF CFG is The maxiumum yield length of the following CNF CFG is

S5—AB 5—AB
A—CD A—CD
B—e B—e
C—a C—a
D—b D—b
1.8 1.8
2.7 2.7
3.4 3.4
4.5 4.5
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 14 / Question ID 87056

Marks: 2.00

A three dimensional array in C++ is declared as int A [a] [b] [c]. Consider that array elements are stored in row major order and mdexing

begin from 0. Here the address of an item at the location A [r] [s] [t] computed in terms of word length w of an integer is

1. & A [0] [0] [0] + w ( b*c*s+c®r+t)
2. & A[0] [0] [0] + w ( b*c*r*+c*s+t)
3. & A[0] [0] [0] +w ( a*b*r*+c*s+t)
4. & A [0] [0] [0] + w ( a*b*s+c*r+t)

A three dimensional array in C++ is declared as int A [a] [b] [¢]. Consider that array elements are stored in row major order and indexing

begin from 0. Here the address of an item at the location A [r] [s] [t] computed in terms of word length w of an integer is

A[0][0
A[0][0
A[0][0
Afo][0

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

[0] + w ( b*c*s+c¥r+t)
[0] + w ( b¥*c*r*+c*s+t)
[0] + w ( a*b*r*+c*s+t)
[0] + w ( a*b*s+c¥r+t)

Bo B Ro

1:
2
3.
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Question No. 15 / Question ID 87006

Marks: 2.00




Wi N § e g i1
Let & =m and # ={-1,1} be groups under the multiplication. Then, the map ¢:G — H defined by o(x)= [j_| 1s

. Not a homomorphism

. A one-one homomorphism. which is not onto

. An onto homomorphism. which is not one to one
. An homomorphism

B

X

.o R s e e :
Let G ={— and # ={-1,1} be groups under the multiplication. Then. the map ¢:G — H defined by o(x)= m is

o}

1. Not a homomorphism

2. A one-one homomorphism. which is not onto

3. An onto homomorphism, which is not one to one
4. An homomorphism

o1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 16 / Question ID 87009 Marks: 2.00

Consider the following statements.

A. The identity is unique in any monoid.

B. A monoid is a group if there exists inverse of each element of monoid.
C. Semi group has closure. associative and identity properties.

D. Quasi group has closure property.

Choose the correct answer from the options given below :

1. A. B and D only
2.B. C and D only
3. A.Band C only
4. A, C and D only
Consider the following statements.

A. The identity is unique in any monoid.

B. A monoid is a group if there exists inverse of each element of monoid.
C. Semi group has closure, associative and identity properties.

D. Quasi group has closure property.

Choose the correct answer from the options given below :

. A, Band D only
.B. C and D only
.A Band C only
.A CandD only

B

o O O O

(Chosen Option)

1
1
2
2
3
3
4
4 (Chosen Option)

Question No. 17 / Question ID 87076 Marks: 2.00




In the standard Ethernet with transmission rate of 10 Mbps, asssume that the length of the medium 1s 2500m and size of a frame 15 512

bytes. The propagation speed of a signal in a cable is normally 2 = 10¢ m/s. The transmission delay and propogation delay are

2525 psand 51.2 ps
.512 psand 12.5 ps
.10.24 us and 50.12 ps
4.12.5 usand 51.2 ps
In the standard Ethernet with transmission rate of 10 Mbps, asssume that the length of the medium is 2500m and size of a frame is 512

Wk =

bytes. The propagation speed of a signal in a cable is normally 2 = 10¢ m/s. The transmission delay and propogation delay are

2525 usand 51.2 ps
.51.2 psand 12.5 us
.10.24 ps and 50.12 ps
125 us and 51.2 ps

B e

(Chosen Option)

©)
O
©)

(Chosen Option)
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Question No. 18 / Question ID 87012 Marks: 2.00

What is the (4+4) fit binary fixed point equivalent of -(3.72);,7 What is the (4+4) fit binary fixed point equivalent of -(3.72);4?

1.0011.1100 1.0011.1100
2.0011.1010 2.0011.1010
3. 1100.0100 3.1100.0100
4.0011.1011 4.0011.1011
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 19 / Question ID 87045 Marks: 2.00
Match List I with List IT Match List I with List IT
T1ISTI LISTII LISTI LISTII
A [Crtical region | I [Hoare's monitor A [Crtical region | 1. [Hoare's monitor
B. |Wait/signal II. Pvlutual exclusion B. |Wait/signal II. Pvlutual exclusion
C. [Working set ITT. Principle of locality C. [Working set IT1. |Principle of locality
D. [Deadlock IV. |Circular wait D. [Deadlock IV. |Circular wait

Choose the correct answer from the options given below: Choose the correct answer from the options given below:

L A-IV B-I C-IIT D-II LAIV B-I C-IIT D-II
2 AL B-I C-III  D-IV 2 AT B-I C-III  D-IV
3 A B-II C-IlI  D-IV 3. A B-II C-III  D-IV
4. A-IV B-IlI C-I DI 4. A-IV B-IlI C-I D-I
o1
1
O 2
2

O 3 (Chosen Option)
3 (Chosen Option)




Question No. 20 / Question ID 87066 Marks: 2.00

Consider the following finite automata F1 that accepts a language L

Let F2 be a finite automata which is obtained by reversal of F1. Then which of the following is correct?

. L(F1) £ L(F2)
.L(F1)=L(F2)
.L(F1) <L(F2)

L(F1) >L(F2)

Consider the following finite automata F1 that accepts a language L

S

=y

Let F2 be a finite automata which is obtained by reversal of F1. Then which of the following is correct?

.L(F1) £ L(F2)
.L(F1)=L(F2)
.L(F1) <L(F2)
L(F1) >L(F2)
1

B N R S A

o O O O

(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)

Question No. 21 / Question ID 87073 Marks: 2.00




Given below are two statements:
Statement I: If f and g are two functions and = O(g) but g= off). we say that the growth rate of g is smaller than that of f

Statement II: The class of all decision problems decided by a TM in exponential time. that is O(?.k). k being a constant.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II is incorrect
4. Statement I 1s incorrect but Statement II 1s correct
Grven below are two statements:
Statement I: If f and g are two functions and = O(g) but g= off). we say that the growth rate of g is smaller than that of £

Statement IT: The class of all decision problems decided by a TM in exponential time, that is O(2k). k being a constant.

In the light of the above statements. choose the most appropriate answer from the options given below.

1.
2
3.
4.
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I is correct but Statement II is incorrect
Statement I is incorrect but Statement II is correct

O 4
4
Question No. 22 / Question ID 87017 Marks: 2.00
What is x in the following program? What is x in the following program?
# include < stdio h> # include < stdioh>
it main () it main ()
{typedef (* (* arvfptr [3]) () ) [10]; {typedef (* (* arrfptr [3]) () ) [10];
arrfptr x ; arrfptr x ;
return 0 ; return 0 ;
i b
1. x is a pointer 1. x is a pointer
2. x is a array of three pointer 2. x is a array of three pointer
3. x is an array of three function pointer 3. x is an array of three function pointer
4. Error in x declaration 4. Error in x declaration
O 1
1
0O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 23 / Question ID 87084 Marks: 2.00




Consider universe positive integer X= {1 =n = 8}, proposition P="n 15 an even mtegers”. Q="(3=n=7) - (n#6)". Then truth set of P

—Qis

{14}
{2.6}

. {3.4.5)
4. {1}

Consider universe positive integer X= {1 <n < 8}, proposition P="n is an even integers”. Q="(3 <n <7} (n#6)". Then truth sct of P

(ST S p—

—Qis

1. {14}
2. {2.6}
{3.4.5)
A1}
O 1

1

N V)

O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 24 / Question ID 87029 Marks: 2.00

Given below are two statements:

Which of the following coneurrency control protocol ensures both conflict serializability and freedom from deadlock?
statement I: Two phase locking

statement I: Timestamp ordering

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. statement | is correct but Statement Il is incorrect

4, statement | is incorrect but Statement Il is correct
Given below are two statements:

Which of the following coneurrency control protocol ensures both conflict serializability and freedom from deadlock?
statement I: Two phase locking
statement I: Timestamp ordering

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. statement | is correct but Statement Il is incorrect

4, statement | is incorrect but Statement Il is correct
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4




Question No. 25 / Question ID 87041 Marks: 2.00

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: I/O protection 1s ensured by a hardware trap

Reason R: I/O interrupt caused by the condition like I/O completion and device malfunction ocecuring within the I'O devices

Tn the light of the above statements, choose the correct answer from the options given below.

. Both A and R are true and R is the correct explanation of A
. Both A and R are true but R is NOT the correct explanation of A
. Ads true but R is false

A is false but R is true
Grven below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

LTI

=

Assertion A: I/O protection is ensured by a hardware trap

Reason R: /O interrupt caused by the condition like I/O completion and device malfunction oceuring within the I'O devices

In the light of the above statements, choose the correet answer from the options given below.

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R is false
4. Ais false but R is true
o1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 26 / Question ID 87051 Marks: 2.00

Consider the following statements about the software product line system:

Statement I: At the interaction level, components provide an operator display interface and an interface with the communication system
used.

Statement IT: At the I/O management level, components handle operator authentication. report generator and query manager.

Tn the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

. Statement [ is incorrect but Statement I is correct

Consider the following statements about the software product line system:

Statement [: At the interaction level, components provide an operator display interface and an interface with the communication system
used.

Statement II: At the I'O management level, components handle operator authentication. report generator and query manager.

oy

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement IT are incorrect

3. Statement I is correct but Statement IT is incorrect
4. Statement [ is incorrect but Statement II is correct

O 1
1




O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 27 / Question ID 87039 Marks: 2.00

Consider a disk system with cylinders. The request to access the cylinders occurs in the following sequence:
4.34,10.7,19,73.2.15.6,20

Assuming that the head is currently at cylinder 50, what is the time taken to satisfy all requests if it takes 1 ms to move from one cylinder
to adjacent one and shortest seck time first policy is used?

. 119 ms
. 120 ms
. 142 ms

. 146 ms
Consider a disk system with eylinders. The request to aceess the cylinders occurs in the following sequence:

L

o

4.34,10,7,19.73,2.15.6.20

Assuming that the head is currently at cylinder 50, what is the time taken to satisfy all requests if it takes 1 ms to move from one cylinder
to adjacent one and shortest seck time first policy is used?

119 ms
. 120 ms
. 142 ms
. 146 ms

O 1
1

O 2
2

N R

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 28 / Question ID 87065 Marks: 2.00




Match List I with List IT

LISTI LIST IT
A [Parallel FET L (o [nz)
B [fterative FFT I |O(n)
C. |[Evaluation of polynomial at n points by Horner method 1. | © (lg .F?)
D. | Product of two polynemials that are represented in point value form| IV. | © (Pi Ig H)
Choose the correct answer from the options given below:
1. A-TIT B-I C-II D-III
2. AT B-I C-III  D-IV
3. A-III B-IV C-1 D-II
4. A-TI B-III C-IV.  D-I
Match List T with List IT
LIST I LISTII
A [Pasallel FET L (o (.'12)
B. [fterative FFT I |O(n)
C. |Evaluation of polynomial at n points by Homer method . | © (lg .F?)
D. | Product of two polynemials that are represented in point value form| IV. | © (H lg H)

Choose the correct answer from the options given below:

1LAJI B CJII DI

2AN1 BI CII DIV

3.Ad  BIV CI DI

4 AN B CIV DI
o1
1

O 2 (Chosen Option)
2 (Chosen Option)

03
3

O 4
4

Question No. 29 / Question ID 87026

Marks: 2.00




let R ( A.B.C, D) be a relational schema with following function dependencies:
A—B.B—=C

C—D and D—B

The decomposition of R into

(A.B) (B.C) (BD)

. gives a lossless join, and is dependency preserving
. gives lossless join. but is not dependency preserving
. does not give a lossless join, but is dependency preserving
4. does not give a lossless join and is not dependency preserving
let R ( A.B.C. D) be a relational schema with following function dependencies:

b

A—B.B—=C
C—D and D—B
The decomposition of R into

(A.B) (B.C) (B.D)

. gives a lossless join, and is dependency preserving

. gives lossless join. but is not dependency preserving

. does not give a lossless join. but is dependency preserving

. does not give a lossless join and is not dependency preserving

o1
1

O 2
2

a2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 30 / Question ID 87067 Marks: 2.00

Which of the following statement is correct?

ot

. Ackermann's function is primitive recursive.

o L= {a pEE n2 0,k 2 0} 1s regular language.

2

Aol {a"b“’ n=J 2} is not context free language

4. For every context sensitive language L not including 4. there exists some linear bounded automata M such that L = L(M).
Which of the following statement is correct?

—

. Ackermann's function is primitive recursive.

S {a K 20,k = 0} 1s regular language.

| ]

[¥8]

gl {a"b“’ = Jz} 1s not context free language

iy

. For every context sensitive language L not including A, there exists some linear bounded automata M such that L = L(M).
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 31 / Question ID 87077 Marks: 2.00




A TCP server application 1s programmed to listen on port P on host S. A TCP client i1s connected to the TCP server over the network,
Consider that while TCP connection is active the server is crashed and rebooted. Assume that the client does not use TCP keepalive timer.
Which of the following behaviour/s is/are possible ?

Statement I: The TCP application server on S can listen on P after reboot.

Statement II: If client sends a packet after the server reboot. it will receive the RST segment.
In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true
A TCP server application is programmed to listen on port P on host S. A TCP client is connected to the TCP server over the network,
Consider that while TCP connection is active the server is crashed and rebooted. Assume that the client does not use TCP keepalive timer.
Which of the following behaviour/s is/are possible ?

Statement I: The TCP application server on S can listen on P after reboot.

Statement I1I: If client sends a packet after the server reboot. it will receive the RST segment.
In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement IT is true

O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 32 / Question ID 87089 Marks: 2.00




Consider the following statements

A. C-Fuzzy means clustering is a supervised method of learning

B. PCA is used for dimension reduction

C. Apriori is not a supervised technique

D. When a machine learning model becomes so specially tuned to its exact input data that it fails to generalize to other similar data it is
called underfitting

Choose the correct answer from the options given below:

.Aand B
.Band C
.CandD
.Dand A
Consider the following statements

B

A. C-Fuzzy means clustering is a supervised method of learning

B. PCA is used for dimension reduction

C. Apriori is not a supervised technique

D. When a machine learning model becomes so specially tuned to its exact input data that it fails to generalize to other similar data it is
called underfitting

Choose the correct answer from the options given below:

.Aand B
.Band C
.Cand D
.Dand A

1 (Chosen Option)
1 (Chosen Option)

| S

= L

o O O O
A OW NN

Question No. 33 / Question ID 87036 Marks: 2.00

At a particular time of computation, the value of a counting semaphore is 7. Then 20 p operations and 'x' V operations were completed on
this semaphore. If the final value of semaphore 1s 5. x will be

1: 15

2.22

3. 18

4.13
At a particular time of computation, the value of a counting semaphore is 7. Then 20 p operations and 'x' V operations were completed on
this semaphore. If the final value of semaphore is 5. x will be

=i,

=]

[« I P

e
[l A ]
(%]

(Chosen Option)
(Chosen Option)

O O O O;
AR WW NN 2=

Question No. 34 / Question ID 87087 Marks: 2.00




Given below are two statements:
Statement I: Fuzzifier is a part of a fuzzy system
Statement II: Inference engine is a part of fuzzy system

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I 1s correct but Statement II is incorrect

4, Statement I 1s incorrect but Statement II 1s correct
Given below are two statements:
Statement I: Fuzzifier is a part of a fuzzy system
Statement IT: Inference engine is a part of fuzzy system

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement II are correct
. Both Statement I and Statement II are incorrect

|

3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4
Question No. 35 / Question ID 87090 Marks: 2.00
Match List I with List IT Match List I with List IT
LISTI LISTII LISTI LISTII
A [Expert system [. |Decision tree A [Expert system [ |Decision tres
B. [Fuzzy system II. [Scramble B. [Fuzzy system IL. [Scramble
C. |Operator in genetic algorithm| II1. [Inference enginel C. |Operator in genetic algorithm| I11_ [Inference enginel
D. [Supervized technique IV, Mycin D. [Supervized technique IV PMyein

Choose the correct answer from the options given below: Choose the correct answer from the options given below:

1. A-IV B-1 C-III D-II 1. A-IV B-1 C-III D-II
2. A-III B-IV C-II D-I 2. A-III B-IV C-II D-I
3CAIV B-III C-II D-I 3A-IV B-III C-II D-I
4, A-l B-II C-III  D-IV 4, A-l B-II C-III  D-IV
O 1

1
O 2

2
O 3 (Chosen Option)

3 (Chosen Option)
O 4

4

Question No. 36 / Question ID 87040 Marks: 2.00




Consider the following statements:
S1: LRU page replacement algorithm suffers from the belady's anomaly
52: Shortest remaining time first scheduling may cause starvations

83: Stack is shared by all threads in a process

.51 82 and S3 are true

. 51, 83 false and S2 is true

. S1. S2 are false and S3 is true
. 81. 82 and 53 are false
Consider the following statements:

F R

51: LRU page replacement algorithm suffers from the belady's anomaly
52: Shortest remaining time first scheduling may cause starvations

S3: Stack is shared by all threads in a process

. 81 82 and S3 are true

. 81. S3 false and S2 is true

. 81. S2 are false and S3 1s true
. 81. S2 and 83 are false

L2 =

2

(Chosen Option)
(Chosen Option)

o O O O
AR WW NN =

Question No. 37 / Question ID 87024 Marks: 2.00

Which of the following transforms in 2 dimension is used to resize a 2-dimensional object?

1. Translation
2. Rotation
3. Scaling
4. Shearing
Which of the following transforms in 2 dimension is used to resize a 2-dimensional object?

. Translation
. Rotation

. Scaling

. Shearing

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

| S

e

Question No. 38 / Question ID 87025 Marks: 2.00




Match List I with List IT

LISTI LIST II
A [Bezier curves I B dim objects that have translation rotational symmetry]
B. B-Splines I1. [Fractal geometry
C. |Sweep representations| III. [Bias and tension
D. [Natural objects IV, ppainting drawing CAD

Choose the correct answer from the options given below:

1. A-IV Bl C-lll D-Il

2. Al B-lIl C-IV D-

3. AV B-HI C-1 D-lI

4, A1 B C-l DAl
Match List T with List IT

LISTI LIST II
A [Bezier curves I B dim objects that have translation rotational symmetry]
B. IB-Splines II. [Fractal geometry
C. |Sweep representations| ITI. [Bias and tension
D. [Natural objects IV jpamnting drawing CAD

Choose the correct answer from the options given below:

1. A-IV Bl C-lll D-Il

(8]

. Al Bl C-IV DAl
3. A-IV B-Ill C-1 D-lI
4, A BV C-l DAl
1 (Chosen Option)
1 (Chosen Option)

@)
©)
©)
©)

A OO NN

Question No. 39 / Question ID 87055

Match List I with List IT

Match List T with List IT

Marks: 2.00

LISTI LISTIT LISTI LISTIT
A |Scenario testing I |To verify the I'O behavior of text object| | A. |Scenario testing I |To verify the I'O behavior of text object
B. [Regression testing| II. |user acceptance methodology B |[Regression testing| [T |user acceptance methodology
C. [Component testing] ITl. [No new bugs after changes in program | | C. |[Component testing] ITl. |[No new bugs after changes in program
D. |Beta testing IV. |The documentation of a use case D. |Beta testing IV. |The documentation of a use case

Choose the correct answer from the options given below:

1. A-IV B-III C-Il D-I
2 AT B-I C-IlI D-IV
3CAIV B-II1 C-I D-II
4. A-III B-I C-IV  D-II
O 1

1
O 2

2
O 3

3
O 4 (Chosen Option)

4 (Chosen Option)

Choose the correct answer from the options given below:

1.AIV B-III C-II D-I
2.A-TI B-I C-IlI D-IV
ATV B-III C-I D-II
4. A-III B-I C-IV.  D-I

Question No. 40 / Question ID 87047

Marks: 2.00




Which of the following 1s used to determine the cost performance index?

. Budgeted cost of work performed-budget at completion

. Budgeted cost of work performed+budget at completion

. Budgeted cost of work performed+Actual cost of work performed
4. Budgeted cost of work performed-Actual cost of work performed

Which of the following is used to determine the cost performance index?

(SR NS

Budgeted cost of work performed-budget at completion
Budgeted cost of work performed+budget at completion
3. Budgeted cost of work performed-+Actual cost of work performed
4. Budgeted cost of work performed-Actual cost of work performed

L.
2,

o1
1
O 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)
Question No. 41/ Question ID 87071 Marks: 2.00
Which of the following parser is most powerful parser? Which of the following parser is most powerful parser?
1. Operator precedence 1. Operator precedence
2. SLR 2. 5SLR
3. Canonical LR 3. Canonical LR
4. LALR 4. LALR
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 42 / Question ID 87027 Marks: 2.00

A B-tree used as an index for a large database table has four levels including the root node. If a new key is inserted in this index, then

maximum number of nodes that could be newly created in the process is

AW
| SR FERN EN ]

A B-tree used as an index for a large database table has four levels including the root node. If a new key is inserted in this index, then

maximum number of nodes that could be newly created in the process is

1:5
2.4
3.3
4.2
O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4




Question No. 43 / Question ID 87011 Marks: 2.00

A processor chip is used for application in which 30% of execution time is spent on floating point addition. For the new model of the
processor, the design team has come up with redesign the floating point adder to make it twice as fast. What will be possible maximum
speed up by this redesign?

240
. 1.06
.1.18

4.25
A processor chip is used for application in which 30% of execution time is spent on floating point addition. For the new model of the
processor. the design team has come up with redesign the floating point adder to make it twice as fast. What will be possible maximum
speed up by this redesign?

b

Pl A
—
i
o

1
1
2
2
3 (Chosen Option)
3 (Chosen Option)
4
4

Question No. 44 / Question ID 87021 Marks: 2.00

Southerland Hodgeman method is used on Southerland Hodgeman method is used on

. Smooth curves
. Line segment

1. Smooth curves
2. Line segment

b =

3. Convex polygons 3. Convex polygons
4. Concave polygons 4. Concave polygons
o1
1
O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 45/ Question ID 87016 Marks: 2.00




What 1s the output of following code?

main ()
{ static floata[ ] = { 13.24. 1.5.4.5.54.3.5}

float =, #k:

j=a:

k=a+4

=it

l=k/2;

printf ("% % ", ¥}, *k):

}

132545

;15,35

1324, 1:5,45,54. 35

. Illegal use of pointer in main function

1

b =

o FV ]

0 O O O

(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)

What 1s the output of following code?

main ()
{ static floata[ ] = { 13.24, 1.5.4.5.54.3.5}

tloat =, #k:

j=a:

l=a+4

=%

I=k/2;

printf ("% % £, *j, *k);

}

.1325. 45

:1:5;35

1324 1.5, 4554, 35

. Illegal use of pointer in main function

e R S R

Question No. 46 / Question ID 87018

What is the output of following code?
main ()

struct s1

{ char * z;

int 1;

struct s1 * p:

b

static struetsl a[ ] = {
{"Nagpur”, 1, a+1}
{"Raipur’, 2, a+2}
{"Kanpur'. 3. a}

¥

struct s1%* ptr =a;

printf ( %os Y%s %0s 'n'". a[0].z, ptr—z. a[2].p —z): printf ( Yos Yes Y%s 'n", a[0].z. ptr—z. a[2].p —z):

}

. Nagpur Raipur Kanpur
. Nagpur Nagpur Nagpur
. Kanpur Kanpur Kanpur
. Error

O 1 (Chosen Option)

1 (Chosen Option)

O 2
2

B

What is the output of following code?
main ()

struct sl

{ char * z;

nt i;

struct s1 * p:

b

static struetsla[ ] = {
{"Nagpur”, 1, a+1}
{"Raipur', 2, a+2}
{"Kanpur', 3. a}

¥

struct s1* ptr =a:

}

. Nagpur Raipur Kanpur
. Nagpur Nagpur Nagpur
. Kanpur Kanpur Kanpur
. Error

o =

e L2

Marks: 2.00




Question No. 47 / Question ID 87003 Marks: 2.00

How many integral solutions are theretox +v+z+w=29, wherex>1,y=2. z=3 and w= 07

. 2400
. 2600
. 2800
4. 3000
How many integral solutions are theretox + vy +z+w=29, wherex> 1. y> 2. z> 3 and w>= 07

Wk =

. 2400
. 2600
. 2800
. 3000

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

S

Question No. 48 / Question ID 87037 Marks: 2.00

In a multiuser operating system. 20 requests are made to use a particular resource per hour. on an average. The probability that no request
1s made in 45 minutes is

175

1710
In a multivser operating system. 20 requests are made to use a particular resource per hour. on an average. The probability that no request
is made in 45 minutes is

iy

rpl
A
o

i

'
(¥

e b

— =
'

—_ un

o

(Chosen Option)
(Chosen Option)

o O O O

AR WWNON Q6

Question No. 49 / Question ID 87014 Marks: 2.00




Let @ denote XOR operation. Let 1 and 0 denote the binary constants and F 1s the Boolean expression over two variables P and 0
F(P.Q)=((1®eP)@(P@Q))®((PeQ)®(0®0))

Which of the following is equivalent expression to F?

—

-P@®Q
. P+ QO
- P+Q
. P®Q

Let @ denote XOR operation. Let 1 and 0 denote the binary constants and F is the Boolean expression over two variables P and {0

F(P.0)=(1® P)o(Po ) ®((Po0)®(0®0)

2

G OS]

Which of the following is equivalent expression to F?

]

5
+ @
ol o

= W
Wl "o
@ +
el il

(Chosen Option)
(Chosen Option)

o O O O
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Question No. 50 / Question ID 87002 Marks: 2.00

Find the sum of all four digit numbers formed using the digits 1.2.4 and 6.

1. 86.658
2. 88.8858
3.01,958
4. 93,358
Find the sum of all four digit numbers formed using the digits 1.2.4 and 6.

1. 86,658
2. 88.8858
3.01,958
4.93.358

O 1

O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 51 / Question ID 87001 Marks: 2.00




There are M points on one straight line 45 and # points on another straight line AC none of them being 4. How many triangles can be
formed with these points as vertices?

L. mn(m+n—2}

2

: -%mn(m +n=-2)
3 %mn[m+n -1)

4. mn(m+n-1)
There are M points on one straight line AB and » points on another straight line AC none of them being 4. How many triangles can be
formed with these points as vertices?

L mn{m+n—2}

b2

1
.=mn{m+n-2
Zr (m )
3. %rrm[m+n —1)
4. mn(m+n-1)
o1
1

O 2 (Chosen Option)
2 (Chosen Option)

O 3
3
O 4
4

Question No. 52 / Question ID 87059 Marks: 2.00

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The AVL trees are more balanced as compared to Red Black trees. but they may cause more rotations during insertion and
deletion

Reason R: A Red Black tree with n nodes has height that 1s greater than 2 log, (n+1) and the AVL tree with n nodes has height less than

logg (ﬁ (n+ 2)) —2 (where @ ig golden ratio)

In the light of the above statements, choose the correct answer from the options given below.

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct and R 1s NOT the correct explanation of A

. A 1s true but R 1s false

. A is false but R 1s true

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

R S

Assertion A: The AVL trees are more balanced as compared to Red Black trees. but they may cause more rotations during insertion and
deletion

Reason R: A Red Black tree with n nodes has height that 1s greater than 2 log, (n+1) and the AVL tree with n nodes has height less than

logg {Jg (n+ 2)) —2 (where @ 15 golden ratio)

In the light of the above statements, choose the correct answer from the options given below.

. Both A and R are correct and R is the correct explanation of A

. Both A and R are correct and R 1s NOT the correct explanation of A
. Ads true but R 1s false

. A is false but R is true

O 1
1
0 2
2

O 3 (Chosen Option)
3 (Chosen Option)

R




Question No. 53 / Question ID 87028 Marks: 2.00

Consider the following statements:

A. A database design is in BCNF if each member of the set of relation schemas that constitutes the design is in BCNF
B. A BCNF schema can have transitive dependency

C. It is always possible to obatin a 3NF design without sacrificing a lossless join

D. There are multivalued dependencies in 4NF

1. A. B and C only
2.B. C and D only
3. A.Band D only
4. A. C and D only

Consider the following statements:

A. A database design is in BCNF if each member of the set of relation schemas that constitutes the design is in BCNF
B. A BCNF schema can have transitive dependency

C. It is always possible to obatin a 3NF design without sacrificing a lossless join

D. There are multivalued dependencies in 4NF

.A.Band C only
.B. C and D only
.A.BandD only
A, CandD only

1

L R S

O
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 54 / Question ID 87053 Marks: 2.00

Given below are two statements:
Statement I: subsystem models show logical grouping of objects into coherent subsystem
Statement II: State machine models show how objects change their states in response to events.

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement II are correct
. Both Statement I and Statement II are incorrect
. Statement I is correct but Statement II is incorrect

. Statement I 1s incorrect but Statement II is correct
Given below are two statements:

Statement I: subsystem models show logical grouping of objects into coherent subsystem
Statement II: State machine models show how objects change their states in response to events.

|

e

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct
O 1 (Chosen Option)
1 (Chosen Option)
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Question No. 55 / Question ID 87005 Marks: 2.00

If A= {4n +2 | n is a natural number} and B={31| n is a natural number}. Which of the following is correct for AMNB?

. {1202 +6n | n is a natural number}

. {24n -12 | n is a natural number}

. {60n +30 | n is a natural number}

. {120 -6 | n is a natural number}

If A= {4n +2 | n 1s a natural number} and B={3n| n is a natural number}. Which of the following is correct for ANB?

|

L

. {12n? +6n | n is a natural number}
. {24n -12 | n is a natural number}

. {600 +30 | 1 is a natural number}
. {120 -6 | n iz a natural number}

1 (Chosen Option)
1 (Chosen Option)

|

a2

©)
©)
©)
©)
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Question No. 56 / Question ID 87031 Marks: 2.00

Let R (A.B, C.D.F) be a relational schema with following functional dependencies:

C— F.E —A, EC —D, A—B. Which of the following is a key for R?

e
m o
ZE80

Let R (A.B. C.D.F) be a relational schema with following functional dependencies:

C—F.E —A, EC —D. A—B. Which of the following is a key for R?

m o
o g

e

O O O O‘:p
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(Chosen Option)
(Chosen Option)

Question No. 57 / Question ID 87007 Marks: 2.00




Let (Z, +) denote the group of all mtegers under addition. Then the number of all automorphisms of (Z.+) 13

1
2
3
4

g

Let (Z, +) denote the group of all integers under addition. Then the number of all automorphisms of (Z.+) is

1.4
292
3.3
4.4
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 58 / Question ID 87046 Marks: 2.00

An observational technique that can be used to understand operational process and help to derive requirement for software to support
operational process is known as

1. Requirement specification

2. Structural specification

3. Ethnography

4. Natural language specification
An observational technique that can be used to understand operational process and help to derive requirement for software to support
operational process is known as

1. Requirement specification

2. Structural specification

3. Ethnography

4. Natural language specification

1 (Chosen Option)
1 (Chosen Option)

o O O O

AR WOWODNN

Question No. 59 / Question ID 87033 Marks: 2.00

Given the basic E R diagram and relational model. which of the the following is incorrect?

1. An attribute of an entity can have more than one value

2. An attribute of an entity can be composite

3. In a row of relational table. an attribute can have more than one value

4. In a row of a relational table, an attribute can have exactly one value or a NULL value
Given the basic E R diagram and relational model. which of the the following is incorrect?

. An attribute of an entity can have more than one value

. An attribute of an entity can be composite

. In a row of relational table, an attribute can have more than one value

. In a row of a relational table. an attribute can have exactly one value or a NULL value

B




(Chosen Option)
(Chosen Option)

O O O O
AR WW NN

Question No. 60 / Question ID 87010 Marks: 2.00
Match List I with List IT
LISTI LISTII
A [PERT I |used for non repetitive jobs
B |[Optimistic tune | II. |[Used for repetitive jobs
C. |[CPM III. [The shortest possible time to complete the activity if all goes well
D. |Pessimistic time] IV. |The longest time that an activity takes
Choose the correct answer from the options given below:
1. Al B-IV G-Il D
2. AV Bl C-II DA
3. A-l B-lI C-I1 DA
4. A B C-Il DAV
Match List I with List IT
LISTI LISTII
A [PERT I |used for non repetitive jobs
B. |Optumistic tume | I1. |[Used for repetitive jobs
C. |[CPM III. |The shortest possible time to complete the activity if all goes welll
D. Pessimistic time] IV. [The longest time that an activity takes
Choose the correct answer from the options given below:
1. A-lll B-IV C-Il Dl
2. AV Bl C-I DA
3. AL B-I C-ll DA
4. A-l B-I C-I1 D-IV
O 1
1
O 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)
Question No. 61 / Question ID 87015 Marks: 2.00

Match List I with List IT Match List I with List IT
LISTI LISTII LISTI LISTII
A [AAB L [A-B)UA-C) A JAAB L [A-B)U@A-0C)
BA-BUC |I[A-B)N@&-C BA-BUC |1 [A-B)N@k-C
CJA-BNOC L. [A-Byu (B-A) CJA-BNGC I [[A-Byu(B-A)
DANGB-C) |IV|ANB -(ANC DIAN@B-C) |IV|[ANB)-(ANC

Choose the correct answer from the options given below: Choose the correct answer from the options given below:

1. a-1 B-I ¢ DAV

=

. Al B C-1 D-IV

2. Al Bl C-IV D-I 2. Al Bl C-IV D-I
3. A-IVB-lIl C-1 D-l 3. A-IVB-lIl C-1 D-Nl
4, AV Bl C-lIE D-II 4, AV B-l C-lE D-HI

O 1 (Chosen Option)




1 (Chosen Option)

Question No. 62 / Question ID 87061 Marks: 2.00

Grven below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: It is possible to create doubly linked list using only one pointer with every node.

Reason R: By storing the XOR of the addresses of the previous and next nodes.

In the light of the above statements, choose the most appropriate answer from the options given below.

. Both A and R are true and R is the correct explanation of A
. Both A and R are true but R i NOT the correct explanation of A
. Ais true but R is false

. A s false but R is true
Grven below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

W

Assertion A: It is possible to create doubly linked list using only one pointer with every node.

Reason R: By storing the XOR of the addresses of the previous and next nodes.

In the light of the above statements, choose the most appropriate answer from the options given below.

- Both A and R are true and R is the correct explanation of A

. Both A and R are true but R 15 NOT the correct explanation of A
. Ais true but R 1s false

. Ais falge but R is true

1 (Chosen Option)
(Chosen Option)

W

O O O O

1
2
2
3
3
4
4

Question No. 63 / Question ID 87060 Marks: 2.00




Given below are two statements:

Let f(n) and g(n) be asymptotically positive functions. The following conjectures are given
Statement I:  f(n) 2 land f(n) =0 t_r[n)] = g(m) = £ (n))
Statement II: f(n)= O( ( )) ( '(n]) ()(lg (g(n))) where lg{g n )21 for all sufficient large n.

In the light of the above statements, choose the most appropriate answer from the options given below.

. Both Statement | and Statement Il are correct

. Both Statement I and Statement II are incorrect

. Statement [ is correct but Statement II is incorrect
. Statement I is incorrect but Statement II is correct
Grven below are two statements:

B

Let f(n) and g(n) be asymptotically positive functions. The following conjectures are given
Statement I:  f(n) = land f(n) = U{q[n)] = g(n) =Q( f (n))
Statement II: f(n) = 0( (n )) ( '(n]) ()(lg (g(ﬁ))] where Ig(g(n)) 21 for all sufficient large n.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement II is correct
o 1
1
O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 64 / Question ID 87083

Which of the following is not a property of a good system for representation of knowledge in a particular domain?

1. Presentation adequacy
2. infrential adequacy
3. Infential efficiency
4. acquisitional efficiency
Which of the following is not a property of a good system for representation of knowledge in a particular domain?

1. Pregentation adequacy
2. infrential adequacy

3. Infential efficiency

4. acquisitional efficiency

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Marks: 2.00

Question No. 65 / Question ID 87082

Marks: 2.00




Which 1s not a basic approach to the problem of contlict resolution in a production system?

1. Assigning a preference based on the rule that matched

2. Assigning a preference based the object that matched

. Assigning a preference based on the action that the matched rule would perform
4. Assigning a preference based on the action that the matched object would perform

Which is not a basic approach to the problem of conflict resolution in a production system?

[¥%]

1. Assigning a preference based on the rule that matched

2. Assigning a preference based the object that matched

3. Assigning a preference based on the action that the matched rule would perform
4. Assigning a preference based on the action that the matched object would perform

(Chosen Option)
(Chosen Option)

o1
1
O 2
2
O 3
3
O 4
4

Question No. 66 / Question ID 87013

Marks: 2.00

256 Mb DRAM is organized as a 32M = § memory externally and as a 16K = 16K square array internally. Each row must be refreshed at
least once every 50 mili second to forestall loss of data: refreshing one row takes 100 nanoseconds. What fraction of the total memory

bandwidth is lost to refresh cycles?

. 6.6%
.3.3%
.9.9%
4. 4.3%

WD

256 Mb DRAM is organized as a 32M = 8 memory externally and as a 16K = 16K square array internally. Each row must be refreshed at
least once every 50 mili second to forestall loss of data: refreshing one row takes 100 nanoseconds. What fraction of the total memory

bandwidth is lost to refresh cycles?

1. 6.6%

2.3.3%

3.9.9%

4. 4.3%

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 67 / Question ID 87052

Marks: 2.00




Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Validity checks real need of system users
Reason R: Completeness checks system user defined requirements.

In the light of the above statements. choose the correct answer from the options given below.

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is NOT the correct explanation of A

. A s true but R is false

. A s false but R is true

Grven below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

| ]

=

Assertion A: Validity checks real need of system users
Reason R: Completeness checks system user defined requirements.

In the light of the above statements. choose the correct answer from the options given below.

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is NOT the correct explanation of A
. Ais true but R is false

. Ais false but R is true

O 1
1

B R

O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 68 / Question ID 87044

Given below are two statements:

Which of the following statement/s is/are correct with respect to virtual memory
Statement I: Address translation is performed for every logical address used during the execution of a program

Statement II: A program can execute only when all of its components are loaded in the memory

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement II are correct
. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II is incorrect
4, Statement I 1s incorrect but Statement II is correct
Given below are two statements:

|

Which of the following statement/s is/are correct with respect to virtual memory
Statement I: Address translation is performed for every logical address used during the execution of a program

Statement II: A program can execute only when all of its components are loaded in the memory

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct

|

Marks: 2.00




(Chosen Option)
(Chosen Option)

O O O O
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Question No. 69 / Question ID 87074 Marks: 2.00

A. The set of turning machine codes for TM's that accept all inputs that are palindromes (possible along with some other inputs) is
decidable

B. The language of codes for TM's M that when started with blank tape , eventually write a 1 somewhere on the tape 1s undecidable

C. The language accepted by a TM M is L (M) is always recursive

D. Post's correspondence problem is undecidable

Choose the correct answer from the options given below:

.A. B and C only

.B. C and D only

. Aand C only

.B and D only

. The set of turning machine codes for TWM's that accept all inputs that are palindromes (possible along with some other inputs) 13
decidable

B. The language of codes for TM's M that when started with blank tape . eventually write a 1 somewhere on the tape 1s undecidable

C. The language accepted by a TM M 1s L (M) is always recursive

D. Post's correspondence problem is undecidable

= R R

Choose the correct answer from the options given below:

1. A. B and C only
2.B. C and D only
3. Aand C only
4. B and D only

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 70 / Question ID 87080 Marks: 2.00




Match List I with List IT

LISTI LISTII
A JCDMA I It provides mobile internet connection with faster data transfer rates
B |GSM II. [t allows user to connect to a network or to other devices over wireless channel
C. [UMTS ITT. JAccessing mechanism for multiple transmitters over a single channel
D |WiF1 IV |It 15 a cellular technology that employs hvbnd of FDMA and TDMA

Choose the correct answer from the options given below:

CA-II B-IV C-II DI
CA-ITT B-IV C-1 D-II
CA-TT B-III C-IV D-I

4. A-IT B-I C-IV  D-II
Match List I with List IT

=

LISTI LISTII
A |CDMA I. It provides mobile internet connection with faster data transfer rates
B |GSM II. [t allows user to connect to a network or to other devices over wireless channel
C. [UMTS ITT. JAccessing mechanism for multiple transmitters over a single channel
D |WiF1 IV |It 15 a cellular technology that employs hvbnd of FDMA and TDMA

Choose the correct answer from the options given below:

1. A-IIIT B-IV C-II DI
2. A B-IV C-I D-II
3 A B-III C-IV  D-I
4. A-II B-I C-IV  D-II
O 1 (Chosen Option)

1 (Chosen Option)
O 2

2
O 3

3
O 4

4

Question No. 71 / Question ID 87004

Marks: 2.00

Let N denote the set of all natural numbers and R be the relation on NXN defined by (a.b)R(c.d). if ad(b+c)= be(a+d). Then R is

1. Symmetric only

2. Reflexive only

3. Transitive only

4. An equivalence relation

Let N denote the set of all natural numbers and R be the relation on NXN defined by (a.b)R{c.d). if ad(b+c)= be(a+d). Then R is

1. Symmetric only

2. Reflexive only

3. Transitive only

4. An equivalence relation

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 72 / Question ID 87075

Marks: 2.00




Consider following statements:

A. A context free language is generated by LR(o0) grammar if and only if it is aceepted by a deterministic pushdown automata and has
prefix property

B. If M1 is the single tape TM simulating multilape TM M. then time taken by M1 to simulate n moves is (n°)

C. Push down automata behaves like a Turning machine when it has one auxiliary memory.

D.L= {a" b"c™ : nz1 } is not context free but context sensitive.

Choose the correct answer from the options given below:

1. A. B and C only
2. A.B only
3.C.D only
4.B. C only

Consider following statements:

A. A context free language is generated by LR(o) grammar if and only if it is accepted by a deterministic pushdown automata and has
prefix property

B. If M1 is the single tape TM simulating multilape TM M. then time taken by M1 to simulate n moves is (n°)

C. Push down automata behaves like a Turning machine when it has one auxiliary memory.

D.L= {a"b"c" : nz1 } is not context free but context sensitive.

Choose the correct answer from the options given below:

(Chosen Option)
(Chosen Option)

AR WWODNN ==

Question No. 73 / Question ID 87058 Marks: 2.00

Consider a hash table of size seven with starting index zero and a hash function (6x +3) mod 4. Assuming the hash table is initially empty.
Which of the following is the content of the table when the sequence 1.3.8.10.5 . is inserted into the table using closed hashing? Here
" " denotes an empty location in the table.

.1.3.8.10.5, .
.3.8.1...10 .5

a8 0A

1.3.8.10.5.

Consider a hash table of size seven with starting index zero and a hash function (6x +3) mod 4. Assuming the hash table is initially empty.
Which of the following is the content of the table when the sequence 1.3.8.10.5 . is inserted into the table using closed hashing? Here

" " denotes an empty location in the table.

N

138105, 5
2,381, .10 5
Je 381y 108
4, 1.3.,8.10.5,
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 74 / Question ID 87023 Marks: 2.00




Consider the rectangle with vertices (0.0). (0.2), (3.0). (3.2). There is scaling of 2 towards x-axis and 3 towards y-axis. The new cordinates
of the rectangle are

1. (0.0). (6.0). (0.4). (6.4)
2. (0.0). (6.0). (0.4). (3.2)
3. (0.0). (6.0). (0.6). (6.6)
4. (0.0). (4.0). (0.6). (4.6)
Consider the rectangle with vertices (0,0). (0.2), (3.0). (3.2). There is scaling of 2 towards x-axis and 3 towards y-axis. The new cordinates
of the rectangle are

1. (0.0). (6.0). (0.4), (6.4)
2. (0.0), (6.0). (0,4). (3.2)
3. (0.0). (6.0). (0.6). (6.6)
4. (0.0), (4.0). (0.6). (4.6)
1

o O O O

(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)

Question No. 75 / Question ID 87038 Marks: 2.00

Consider the following table of arrival time and burst time for three processes PO.P1 P2:

Process arrival time Burst time
PO 0 ms 7
D1 1 ms 3
D2 2 ms 7

The pre-emptive shortest job first scheduling algorithm is used. Scheduling is carried out only at arrival or completion of a process. What
1s the average waiting time for the three processes?

1. 3 ms
2.3.67 ms
3.4.47 ms
4.4 ms
Consider the following table of arrival time and burst time for three processes PO.P1 P2:
Process arrival time Burst time
PO 0 ms 7
P1 1 ms 3
D2 2 ms 7

The pre-emptive shortest job first scheduling algorithm 1s used. Scheduling is carried out only at arrival or completion of a process. What
1s the average waiting time for the three processes?

]

Chosen Option)
Chosen Option)

—_——
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Question No. 76 / Question ID 87032 Marks: 2.00




Which of the following scenario may lead to an irrecoverable error in a database system?

1. A transaction writes a data item after it is read by an uncommitted transaction
2. A transaction reads a data item after it is read by an uncommitted transaction
3. A transaction reads a data item after it is written by a committed transactions
4. A transaction reads a data item after it is written by an uncommitted transaction.

Which of the following scenario may lead to an irrecoverable error in a database system?

. A transaction writes a data item after it is read by an uncommitted transaction

. A transaction reads a data item after it is read by an uncommitted transaction

. A transaction reads a data item after it is written by a committed transactions

. A transaction reads a data item after it is written by an uncommitted transaction.

1 (Chosen Option)
1 (Chosen Option)

|

S %)

©)
©)
©)
©)
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Question No. 77 / Question ID 87008 Marks: 2.00

Let R={x xe N,xismultiple of 3 and x < 100} and § = {x  xe N, X is a multiple of 5 and x < 100}. What is the number of elements in
(RNS)x(SNR)?

R
O b s T
o aa Oy

Let R={x xe N,xis multiple of 3 and x < 100} and § = {x  xe N, x is a multiple of 5 and x < 100}. What is the number of elements in
(RNS)x(SNR)?

FERRRSIEN
Oy b L s
S Lo oy

(Chosen Option)
(Chosen Option)

0 O O O

1
1
2
2
3
3
4
4

Question No. 78 / Question ID 87054 Marks: 2.00




Consider the following statements:

A. Dynamic metrics are collected by measurements made of a program in execution

B. Static metries are collected by measurements made of representations of the system

C. The assessment of software quality is an objective process

D. An important part of quality assurance in the selection of standards that should apply to the software development process.

Choose the correct answer from the options given below:

1. A. B C only

2.B. C and D only
3. A, Cand D only
4. A. B and D only

Consider the following statements:

A. Dynamic metrics are collected by measurements made of a program in execution

B. Static metrics are collected by measurements made of representations of the system

C. The assessment of software quality is an objective process

D. An important part of quality assurance in the selection of standards that should apply to the software development process.

Choose the correct answer from the options given below:

1. A.B C only

2.B. Cand D only
3. A CandD only
4. A. B and D only

1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 79 / Question ID 87072 Marks: 2.00

Which phase of compiler checks the grammar of programming? Which phase of compiler checks the grammar of programming?

1. Code optimization 1. Code optimization
2. Semantic analysis 2. Semantic analysis
3. Code generators 3. Code generators
4. Syntax analysis 4. Syntax analysis
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 80 / Question ID 87043 Marks: 2.00




Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R.
A virtual memory system uses first-in first-out page replacement policy and allocates a fixed number of frames to a process
Assertion A: Increasing number of page frames allocated to a process sometimes increases the page fault rate.

Reason R: Some programs do not exhibit locality of reference.

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is NOT the correct explanation of A
. Ais true but R is false

. A s false but R 1s true
Grven below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

SN SV

A virtual memory system uses first-in first-out page replacement policy and allocates a fixed number of frames to a process
Assertion A: Increasing number of page frames allocated to a process sometimes increases the page fault rate.

Reason R: Some programs do not exhibit loeality of reference.
In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R 1s false
4. A is false but R 1s true

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 81 / Question ID 87081 Marks: 2.00

Which 1s not the component of the natural language understanding process?

. Morphological analysis

. Semantic analysis

. Pragmatic analysis

. Meaning analysis

Which is not the component of the natural language understanding process?

(SR S p—

e

1. Morphological analysis
2. Semantic analysis
. Pragmatic analysis
. Meaning analysis
o1
1
O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

S Y]
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The following table shows the time between failures for a software :

Error number L2 3 (4 (>
time since last failure (Hours) 6 |4 (8 [3 |6

The reliability of the system for one hour operation assuming an exponential model is-

L. e‘%g
o 9
4-€‘§§9

The following table shows the time between failures for a software :

b2

(¥

Error number 1 2 3 [4 (5

time since last failure (Hours) 6 4 (8 [> |6

The reliability of the system for one hour operation assuming an exponential model is-

—

o
o9
4-e‘§59

(Chosen Option)
(Chosen Option)

[ ]

[¥5]

O O O O

1
1
2
2
3
3
4
4

Question No. 83 / Question ID 87050 Marks: 2.00

Consider a popular sports news site. At a given moment. 20,000 concurrent users submit a request (a transaction. T) once every 2 minutes
on average. Each transaction requires the webapp to download a new article that on average has 3k bytes in length. What is the
throughput?

1. 8 megabits per second

2. 4 megabits per second

3. 6 megabits per second

4. 2 megabits per second
Consider a popular sports news site. At a given moment. 20,000 concurrent users submit a request (a transaction. T) once every 2 minutes
on average. Each transaction requires the webapp to download a new article that on average has 3k bytes in length. What 1s the
throughput?

. 8 megabits per second
. 4 megabits per second
. 6 megabits per second
. 2 megabits per second

O 1
1

N R

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4




Question No. 84 / Question ID 87019 Marks: 2.00
What will be the output of the following code? What will be the output of the following code?
# mclude < stdio. h> # mclude < stdio. h>
int main ( ) { int main () {
int a, b, ¢ int a, b, ¢
a=oxl10: b=0l0: a=oxl10: b=0l0:
c=ath: c=ath:
printf ( "%d". c): printf ( "%d", ¢):
return 0: return 0:

1 1
1. 20 1. 20
2:24 2.24
3. Garbage 3. Garbage
4. error 4. error
o 1
1
o 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4

Question No. 85 / Question ID 87069 Marks: 2.00
Consider the following language : Consider the following language :
L={we{abe}* n, (o) +ny(0)=nfe)} L={we{abe }* n, (o) +n, (o) =nlw)}
Lis Lis

1. Context free but not linear 1. Context free but not linear
2. Not context free 2. Not context free
3. Context free and linear 3. Context free and linear
4. Linear 4. Linear
o1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 86 / Question ID 87030 Marks: 2.00




Which one of the following 1s NOT a part of ACID properties of a database transaction?

. Atomicity

. Consistency

. Isolation

. Deadlock-freedom

Which one of the following is NOT a part of ACID properties of a database transaction?

B

1. Atomicity

2. Consistency

3. Isolation

4, Deadlock-freedom
1

@)
©)
©)
©)

(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)

Question No. 87 / Question ID 87020 Marks: 2.00

How will you free the memory allocated by the following program? How will you free the memory allocated by the following program?

# include <stdio.h= # include <stdio.h>
#include < stdlib, h> #include < stdlib, h>
#define MAXROW 3 #define MAXROW 3
#define MAXCOL 4 #define MAXCOL 4
it main () mt main ()
{ {
int ** p. i, J; T pots s
p=(int **) malloc (MAXROW * size of (int*)): p= (int **) malloc (MAXROW * size of (int*)):
return 0: return 0:
! b
1. memfree (int p); 1. memfree (int p);
2. dealloc (p): 2. dealloc (p):
3. malloc (p.0): 3. malloe (p.0):
4. free (p): 4. free (p):
O 1
1
0 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)

Question No. 88 / Question ID 87063 Marks: 2.00




A, If some NP-complete problem P1s in P that F =T

B. TSP is in P

C.SAT isin NP

D. Hamilton circuit problem is not NP-complete

o

A, If some NP-complete problem P 15 in P that F =T1F

B.TSPis in NP
. SAT is in HP

C

D. Hamilton circuit problem is not NP-complete

Choose the correct answer from the options given below: Choose the correct answer from the options given below:

1. A Band C only 1. A. B and C only
2.B. C and D only 2.B. C and D only
3. C.D and A only 3. C.D and A only
4. D. A and B only 4.D. A and B only
O 1 (Chosen Option)
1 (Chosen Option)
O 2
2
O 3
3
O 4
4
Question No. 89 / Question ID 87035 Marks: 2.00
Match List T with List IT Match List T with List IT
LISTI LISTIO LISTI LISTIT
A RAID level 2 | 1. [Bit mnterleaved parity A RAID level 2 | 1. [Bit mnterleaved parity
B |RAID level 4 | IL |Block interleaved distributed parity B |RAID level 4 | II. |Block interleaved distributed parity
C. |RAID level 5 | IIL. |[Error correcting parity C. |RAID level 5 | IIL. |Error correcting parity
D. |RAID level 3 | IV [Block interleaved parity D. [RAID level 3 | IV |Block interleaved parity
Choose the correct answer from the options given below: Choose the correct answer from the options given below:
1. A-IV B-III C-1 D-II 1. A-IV B-III C-I D-II
2. A-IIIB-IV C-II D-I 2. A-JIIB-IV C-II D-I
3. A-III B-I C-II D-IV 3. A-III B-I C-II D-IV
4. A-I B-III C-IV D-I 4. A-I B-ITI C-IV D-I
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 90 / Question ID 87078 Marks: 2.00




Consider two hosts P and Q that are connected through a router R. The maximum transter unit (MTU) value of the link between P and R 15
1500 bytes and between R and Q is 820 bytes. A TCP segment of size 1400 bytes is transferred from P to Q through R with IP
identification value of 0x1234. Assume that IP header size is 20 bytes. Further the peaket is allowed to be fragmented that is Don't
fragment (DF) flag in the IP Header is not set by P. Which of the following statement/s is/are true?

A. Two fragments are created at R and IP datagram size carrying the second fragment is 620 bytes
B. If the second fragment is lost, then R resends the fragment with IP identification value of 0x1234
C. If the second fragment lost. then P requires to resend the entire TCP segment.

D. TCP destination port can be determined by analyzing the second fragment only.

Choose the correct answer from the options given below:

1. A Band C only

2. A and C only

3. C and D only

4. B and D only
Consider two hosts P and Q that are connected through a router R. The maximum transfer unit (MTU) value of the link between P and R is
1500 bytes and between R and Q is 820 bytes. A TCP segment of size 1400 bytes is transferred from P to Q through R with IP
identification value of 0x1234. Assume that IP header size is 20 bytes. Further the peaket is allowed to be fragmented that is Don't
fragment (DF) flag in the IP Header is not set by P. Which of the following statement/s is/are true?

A. Two fragments are created at R and IP datagram size carrying the second fragment is 620 bytes
B. If the second fragment is lost, then R resends the fragment with IP identification value of 0x1234
C. If the second fragment lost. then P requires to resend the entire TCP segment.

D. TCP destination port can be determined by analyzing the second fragment only.

Choose the correct answer from the options given below:

1. A. B and C only
2. Aand C only
3. Cand D only
4. B and D only

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 91 / Question ID 87094 Marks: 2.00




Consider the following program tragment that deals with a table T with 17 rows and 1024 columns, computing an average for each
column and printing it to sereen (i is row index and j is column index):

forj=[0..... 1023]{

temp = 0:

fori=[0....16]:

temp = temp + T [i] [j]:

print (temp/ 17.0) : }

T [i] [;] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ", If T is stored in the virtual address space in row major format.

Consider again that T is stored in column-major format. what is the main memory hit ratio?

. 80%
. 95.6%
.97.8%
4.99.9%
Consider the following program fragment that deals with a table T with 17 rows and 1024 columus. computing an average for each

column and printing it to sereen (i is row index and j is column index):

forj=10..... 1023]{

temp = 0:

tori=[0....16]:

temp =temp + T [1] []:

print (temp/ 17.0) : }

T [i] [] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ", If T is stored in the virtual address space in row major format.

|

Consider again that T is stored in column-major format, what is the main memory hit ratio?

(Chosen Option)
(Chosen Option)

AR WWODNN ==
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Consider the following program tragment that deals with a table T with 17 rows and 1024 columns, computing an average for each
column and printing it to sereen (i is row index and j is column index):

forj=[0..... 1023]{

temp = 0;

fori=[0....16]:

temp = temp + T [i] [j]:

print (temp/ 17.0) : }

T [i] [;] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ", If T is stored in the virtual address space in row major format.

Consider that T is stored in column major format. how many page faults will be encountered?

14
)
.16
4. 17
Consider the following program fragment that deals with a table T with 17 rows and 1024 columus. computing an average for each
column and printing it to sereen (i is row index and j is column index):
forj=10..... 1023]{
temp = 0:
tori=[0....16]:
temp =temp + T [1] []:
print (temp/ 17.0) : }
T [i] [] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ", If T is stored in the virtual address space in row major format.

|

Consider that T is stored in column major format. how many page faults will be encountered?

o el
—
-1 Oy L e

(Chosen Option)
(Chosen Option)

O O O O

AR WWODNN ==
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Consider the following program tragment that deals with a table T with 17 rows and 1024 columns, computing an average for each
column and printing it to sereen (i is row index and j is column index):

forj=[0..... 1023]{

temp = 0:

fori=[0....16]:

temp = temp + T [i] [j]:

print (temp/ 17.0) : }

T [i] [;] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ", If T is stored in the virtual address space in row major format.

What is fault ratio of row major to column major arrangements ?

.1024:1
.1301:1
. 1240:1
4.9107:8
Consider the following program fragment that deals with a table T with 17 rows and 1024 columus. computing an average for each
column and printing it to sereen (i is row index and j is column index):
forj=10..... 1023]{
temp = 0:
tori=[0....16]:
temp =temp + T [1] []:
print (temp/ 17.0) : }
T [i] [] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ", If T is stored in the virtual address space in row major format.

|

What is fault ratio of row major to colummn major arrangements ?

.1024:1
.1301:1
. 1240:1
.9107:8

1 (Chosen Option)
1 (Chosen Option)

O O O OJALMI«.JL—A

A OO NN
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Consider the following program tragment that deals with a table T with 17 rows and 1024 columns, computing an average for each
column and printing it to sereen (i is row index and j is column index):

forj=[0..... 1023]{

temp = 0;

fori=[0....16]:

temp = temp + T [i] [j]:

print (temp/ 17.0) : }

T [i] [;] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ", If T is stored in the virtual address space in row major format.

How many page faults will be encountered?

.16.402
. 17.408
.18.208
4. 18.608
Consider the following program fragment that deals with a table T with 17 rows and 1024 columns, computing an average for each
column and printing it to sereen (1 1s row index and j is column index):
forj=10..... 1023]{
temp = 0:
fori=[0....16]:
temp =temp + T [1] J]:
print (temp/ 17.0) : }
T [i] [;] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp 1s kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ". If T 1s stored in the virtual address space in row major format.

|

How many page faults will be encountered?

. 16.402
. 17.408
. 18.208
. 18.608

1

N R

O
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
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Consider the following program tragment that deals with a table T with 17 rows and 1024 columns, computing an average for each
column and printing it to sereen (i is row index and j is column index):

forj=[0..... 1023]{

temp = 0:

fori=[0....16]:

temp = temp + T [i] [j]:

print (temp/ 17.0) : }

T [i] [;] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ", If T is stored in the virtual address space in row major format.

What is the main memory hit ratio?

Wk =
a = O

4.3
Consider the following program fragment that deals with a table T with 17 rows and 1024 columus. computing an average for each

column and printing it to sereen (i is row index and j is column index):

forj=10..... 1023]{

temp = 0:

tori=[0....16]:

temp =temp + T [1] []:

print (temp/ 17.0) : }

T [i] [] and temp are 32 bit floating point values and memory is word addressable. The temporary variable temp is kept in a processor
register so access to temp does not involve a memory reference. The main memory is page and holds 16 pages of size 1024 words, the
page replacement policy is "least recently used ", If T is stored in the virtual address space in row major format.

What is the main memory hit ratio?

-l
d bd — O

(Chosen Option)
(Chosen Option)

O O O O
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IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....

What is the efficiency of this datagram?

. 76.19%
. 80.50%
. 82.24%
. 85.45%
TP datagram has arrived with following partial information in the header (in hexadecimal )

o L 2 =

45000054000300002006.....
What is the efficiency of this datagram?

1. 76.19%

2. 80.50%

. 82.24%

. 85.45%

O 1

O

o |
(Chosen Option)

O

1
2
2
3 (Chosen Option)
3
4
4

Question No. 97 / Question ID 87096 Marks: 2.00

IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....

What is the header size ?

. 10 bytes
. 20 bytes
. 30 bytes
. 40 bytes

IP datagram has arrived with following partial information in the header (in hexadecimal )

L

i

45000054000300002006.....

What is the header size ?

. 10 bytes
. 20 bytes
. 30 bytes
. 40 bytes

2 =

L




(Chosen Option)
(Chosen Option)

o O O O
ERWW NN =

Question No. 98 / Question ID 87097 Marks: 2.00

IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....

What is the size of datagram?

. 64 bytes

. 74 bytes

. 84 bytes

. 104 bytes

IP datagram has arrived with following partial information in the header (in hexadecimal )

L

Y

45000054000300002006.....
What is the size of datagram?

. 64 bytes
. 74 bytes
. 84 bytes
. 104 bytes

O 1
1

B

O 2
2
O 3 (Chosen Option)

3 (Chosen Option)

O 4
4
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IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....

How many more routers can the packet travel to?

22
26
30
32
TP datagram has arrived with following partial information in the header (in hexadecimal )

SRR

45000054000300002006.....

How many more routers can the packet travel to?

(Chosen Option)
(Chosen Option)

Question No. 100 / Question ID 87099

IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....
What is the protocol of the payload being carried by the packet?

1. ICMP
2. 5CTP
3. TCP protocol
4. IGMP
IP datagram has arrived with following partial information in the header (in hexadecimal )

45000054000300002006.....
What is the protocol of the payload being carried by the packet?

ICMP
.SCTP
. TCP protocol
. IGMP

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4
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